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TVC(c,b ch) (0o, 7 12

Ty 1s1e+U5 / 25
po 4268+ 0.0
pl -34.32+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,1

A1 nuiz4z3e+04 [ 25
poe po 4273+ 0.0
p1 -37.65+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,5

- 1 nug Jove+ud / 25
== po 4282+ 0.0
pl -36.02 + 0.00

TP delay [ns]

TVC(c,b ch) (0 7,9

~ 1 nuy.Ub/e+us / 25
po 4292+ 0.0
p1 -36.46 + 0.00

TP delay [ns]

TVC(c,b Ch) (0, 7 13

~ 1 nun.yble+us/ 25
pO 4289+ 0.0
p1 -36.36 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

4000

3000

2000

1000

0

1000

TVC(cbch) (0,7,2)

T zyve+ud /25
pO 4297+ 0.0
p1 -37.95+ 0.00

TP delay [ns]

TVC(cbch) (0,7,6

©1nuy, 3ve+u4 | 25
pO 4280+ 0.0
pl -35.25+ 0.00

10‘0
TP delay [ns]

TVC(eb,oh)=(0, 7, 10

T nuiz.z11e+u6 / 25
po 4299+ 0.0
p1 -35.82+ 0.00

1
100

TP delay [ns]

TVC(cbch) (0,7,14

~ 1 zgye+Us / 25
pD 4289+ 0.0
p1 -35.6+ 0.0

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,7,3)

A 1y Suae+ud | 25
po 4289+ 0.0
p1 -36.96+ 0.00

TP delay [ns]

TVC(c,b ch) (0 7,7

- Ui dy1e+Us / 25
po 4270+ 0.0
pl -34.58 + 0.00

TVC(c,b ch) (0, 7

TP delay [ns]

- Mg, m,ems 125
pO 4302+ 0.0
p1 -36.65+ 0.00

TP delay [ns]

TVC(c,b ch) (0, 7 15

71 nurs, 7bye+U5 / 25
pO 4298+ 0.0
-35.94+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,0)

A7 1 nun ssoe+u4 / 25
4274+ 0.0
pl -36.12+ 0.00

TP delay [ns]

TVC(cbch) (0.8,4

Srnanz1ze+u4 /25

- pO 4275+ 0.0
p1 -34.94 + 0.00

[ C =28.62 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (O 8,8

1nuiL r37e+U5 / 25

b, po 4294 0.0
pl -36.34 + 0.00

TP delay [ns]

TVC(cbch) (0,812

11w, 194e+05 / 25

2]

4306+ 0.0
-36.9+ 0.0

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,1)

e, po

p1

AT 1 nuzuzie+ud [ 25
4257+ 0.0
-34.94 % 0.00

1
100

TP delay [ns]

TVC(c,b ch) (0 8,5

“rnublze+ud [ 25
e, pO 4268+ 0.0
p1 -34.34+ 0.00

[ C=29.12 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (0 8,9

T nu.B23e+U5 / 25
po 4303+ 0.0
pl -35.71+ 0.00

1
50 100

TP delay [ns]

TVC(C, bch) (0,8,13

T nug ysle+us/ 25
= pO 4318+ 0.0
p1 -36.9+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (0,8,2)

A"

po
pl

1 nui yyye+ud / 25
4271+ 0.0
-35.69 + 0.00

1000

0

1000

TP delay [ns]

TVC(cbch) (0,86

1y 373e+04 [ 25

- po 4290+ 0.0
[ pl -35.61+ 0.00

TP delay [ns]

TVC(cbch) (0, 8 10

1 nui B8be+U6 / 25

= DO 4326+ 0.0
L pl -36.72+ 0.00

TP delay [ns]

TVC(cbch) (0,814

1 nun,yuze+Us / 25

— pD 4315+ 0.0
L pl -37.28+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,8,3)

X

po
pL

1 nus,1ure+ud [ 25
4290+ 0.0
-36.11 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (0 8,7

- pO 4292+ 0.0
p1 -35.41% 0.00

S nunzZ roe+U5 [ 25

TP delay [ns]

TVC(c,b ch) (0, 8

po 4317+ 0.0
pL -36.45 + 0.00

I ua/e+u6/25

TP delay [ns]

TVC(C, bch) (0,815

o=, pO 4306+ 0.0
p1 -36.28 + 0.00

a7 Zoe+u5 /25

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,0)

A7 nun sze+04 [ 25
po 4241+ 0.0
pl -35.55+ 0.00

TP delay [ns]

TVC(cbch) (09,4

-z 139e+04 / 25
pO 4239+ 0.0
pl -35.38:+ 0.00

e 4
% i
TP delay [ns]
TVC(cbch) (O 9,8

~1nun ploe+u4 / 25
pO 4274+ 0.0
pl -35.38 + 0.00

TP delay [ns]

TVC(cbch) (0,9,12

1o, 380e+U5 / 25
pO 4270+ 0.0
-35.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,1)

A” 1 nuiLyooe+ud [ 25
po 4236+ 0.0
p1 -34.89+ 0.00

TVC(c,b ch) (0 9,5

1
100

TP delay [ns]

- 11U 4obe+04 / 25
pO 4256+ 0.0
-35.26+ 0.00

TVC(c,b ch) (0 9,9

1(;0
TP delay [ns]

T nu.ag1e+Us / 25
po 4260+ 0.0
pl -35.06 + 0.00

1
100

TP delay [ns]

TVC(C, bch) (0,9,13

Tinuig/71e+U5/ 25
pO 4247+ 0.0
p1 34.3+ 0.0

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

0

4000

3000
2000

1000

TVC(cbch) (0,9,2)

A~ 1nug 310e+04 /25
- po 4259+ 0.0
L p1 -36.2+ 0.0

3000

TP delay [ns]

TVC(cbch) (0,9,6

- U B3be+u4 [ 25
4255+ 0.0
-35.6+ 0.0

TP delay [ns]

TVC(cbch) (0, 9 10

1 nuiLb48e+U6 / 25
DO 4293+ 0.0
pl -35.67 + 0.00

TP delay [ns]

TVC(cbch) (0,9,14

~ g 45ze+05 / 25
pD 4256+ 0.0
pl -33.96 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,9,3)

- 144604 25
pO 4257+ 0.0
p1 -35.42:+ 0.00

TVC(c,b ch) (0 9,7

1
100

TP delay [ns]

-1 nu [uae+u5 / 25
pO 4270+ 0.0
pL -36.53+ 0.00

TVC(c,b ch) (0, 9

TP delay [ns]

T, 115e+u6125
pO 4289+ 0.0
pl -36.34+ 0.00

1
100

TP delay [ns]

TVC(C, bch) (0,9,15

Tinan/pye+us /25
po 4271 0.0
-34.7+ 0.0

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (o, 10 0)

-~ o (lae+u4 [ 25
e, pO 4264+ 0.0
-34.09+ 0.00

[ C =29.33 [ps/ch]

1
50 100

TP delay [ns]

TVC(Cbch) (o, 10 4

T 2.30e+04 / 25
po 4286+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(eb,oh)=(0, 10,8

-1 nug 1pze+04 [ 25
==, pD 4271+ 0.0
pl -35.18 + 0.00

TP delay [ns]

TVC(Cbch) (o, 10 12

- 5.4le+us /25
po 4311% 0.0
pl -36.44 + 0.00

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,10,1)

AT 1 nuiLole+u4 / 25
Fo=. po 4262+ 0.0
p1 -34.25+ 0.00

[ C =29.20 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (0, 10 5

-1 nu by3e+ud / 25
- pO 4294+ 0.0
pL -37.23+ 0.00

TP delay [ns]

TVC(eb.oh)=(0, 10,9

T nuizprge+us [ 25
= pO 4287+ 0.0
pl -36.39 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 10 13

T nuis.pb3e+us / 25
pO 4306+ 0.0
p1 -35.88+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000

2000

TVC(CbCh) (0,10,2)

- C = 28.90 [ps/ch]

1
50 100

TP delay [ns]

TVC(Cbch) (o, 10 6

rnun o f1e+04 /25
- pO 4293+ 0.0
[ p1 -36.63+ 0.00

X~ 1 i ygbe+u4 [ 25
- po 4270+ 0.0
[ p1 -34.6 + 0.0

TP delay [ns]

TVC(e,b,ch)=(0, 10, 10

1 UL 400e+U6 / 25
= po 4299+ 0.0
F pl -36.34 + 0.00

TP delay [ns]

TVC(CbCh) (o, 10 14

1000

~1nug.yore+us /25
- pD 4314+ 0.0
L pl -36.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,10,3)

A~ 1 nuiLbUBe+U4 [ 25
e, po 4286+ 0.0
pL -34.78:+ 0.00

[ C =28.76 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (0, 10 7

-1 nui ggge+uS | 25
po 4312+ 0.0
pl -37.04+ 0.00

TP delay [ns]

TVC(Cbch) (0, 10 11

1 nui b49e+U6 / 25
pO 4291+ 0.0
p1 -34.82+ 0.00

TP delay [ns]

TVC(cbch) (0, 10 15

71 num s40e+U5 / 25
b pO 4308+ 0.0
p1 -36.96 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

TVC(CbCh) (0,11,0)

A7 1 nui spbse+ud / 25
4215+ 0.0
p1 -34.57 + 0.00

TP delay

TVC(cbch) (0,11,4

[ns]

T i rple+u4 / 25
4220+ 0.0
-33.99+ 0.00

iy pO
p1
3000 - N
2000 |- N
wor C =29.42 [ps/ch] ™, ]
% i
TP delay [ns]
TVC(c,b, ch) (0, 11 8) -
T nuy pbse+ud 5
A0, po 424;‘
pl -34.59 + 0.00
3000 - T
2000 7
10r C =28.91 [ps/ch]™, 7]
4 % i
TP delay [ns]

4000 =

3000

2000

1000

TVC(cbch) (0,11, 12

X~ g 3zoe+U5 / 25
po 4261+ 0.0
pl -35.45+ 0.00

TP delay

PR RS SR B
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 E,

3000

2000

1000

4000 &,

3000

2000

1000

TVC(Cbch) (0,11,1)

e, po

AT rnuzuLse+ud [ 25
4218+ 0.0
pl -35.13+ 0.00

TP delay

TVC(cbch) (0,11,5

[ns]

“nuz3e+ud [ 25
4247+ 0.0
pl -34.78 + 0.00

TP delay

TVC(eh.eh)=(0, 11, 9

po

[ns]

-1 nuy.pz4e+U5 / 25
4255+ 0.0
p1 -34.47 + 0.00

TP delay

TVC(cbch) (0,11,13

pO
p1

[ns]

)

T inugBL1e+us /25
4255+ 0.0
-35.3+ 0.0

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000 [,
3000
2000

1000

TVC(CbCh) (0,11, 2)

=, PO

A~ 1nuzazie+4 /25
4232+ 0.0
pl -35.03+ 0.00

TP delay

TVC(cbch) (0,11,6

pO
p1

[ns]

- 11U, 20be+u4 / 25
4269+ 0.0
-35.86 + 0.00

TP delay

TVC(cbch) (0,11, 10

[ns]

X1 nuiL s80e+U6 / 25
po 4237+ 0.0
pl -33.97 + 0.00

TP delay

TVC(cbch) (0,11, 14

[ns]

A7 1 nuis ysse+u5/ 25
po 4269+ 0.0
pl -35.88+ 0.00

TP delay

PR SR T
50 100

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,11,3)

- po

AT rnum.yyle+ud [ 25
4240+ 0.0
p1 -34.92+ 0.00

TP delay

TVC(cbch) (0,11,7

pO
pl

[ns]

=1 nui 54e+05 / 25
4247+ 0.0
-34.06 + 0.00

TP delay

TVC(e.b.eh=(0, 11, 11

pO

[ns]

71 nuiLyuoe+u6 / 25
4255+ 0.0
p1 -34.92 + 0.00

TP delay

TVC(cbch) (0,11,15

[ns]

)

T nup,sy1e+U5 / 25
4260+ 0.0
p1 -34.64 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (o, 12 0)

~rnuiLyu4e+u4 [ 25
pO 4266+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(cbch) (0,124

- 1nuz.4p3e+04 / 25
4278+ 0.0
-37.7+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (0, 12 8

Ty 1se+ud /25
= pO 4261+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(cbch) (0,12,12

T rnun.yr1e+U5 /25
pO 4269+ 0.0
pl -35.44+ 0.00

PR RS SR B
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,12,1)

AT rnuzsyie+ud [ 25
Fo=. po 4279+ 0.0
p1 376+ 0.0

TP delay [ns]

TVC(cbch) (0,125

“nu3oe+u4 [ 25
e pO 4269+ 0.0
pL -37.15+ 0.00

TP delay [ns]

TVC(ebeh)=(0, 12,9

~ 1 nuy.qu1e+U5 / 25
po 4273+ 0.0
pl -36.42 + 0.00

TP delay [ns]

TVC(cbch) (012,13

T nun.pz1e+U5/ 25
frvase pO 4272+ 0.0
pl -35.94+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000 [,
3000
2000

1000

0

4000 [,
3000
2000

1000

TVC(CbCh) (0,12,2)

A~ 1nugz4/e+04 /25
_ﬁ po 4273+ 0.0
- pl -36.36 + 0.00

3000

TP delay [ns]

TVC(cbch) (0.12,6

1000

T rnuy.4/0e+04 [ 25
- pO 4270+ 0.0
[ pl -36.82+ 0.00

TP delay [ns]

TVC(cbch) (0, 12 10

1 nuiL3uze+U6 / 25
DO 4284+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(cbch) (0.12,14

1, 5o9e+U5 / 25
pD 4278+ 0.0
pl -35.56 + 0.00

PR SR T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,12,3)

ATz ssie+ud [ 25
po 4298+ 0.0
pl -36.85+ 0.00

TP delay [ns]

TVC(c, bch) (0,12,7

-1 nubb/e+us / 25
pO 4295+ 0.0
pL -37.06+ 0.00

TP delay [ns]

TVC(eh.eh)=(0, 12, 11

T nuz 383e+U6 / 25
pO 4289+ 0.0
p1 -36.27 + 0.00

TP delay [ns]

TVC(cbch) (0,12,15

1 nurs 3o9e+U5 / 25
po 4277+ 0.0
-36.02+ 0.00

TP delay [ns]



TVC(CbCh) (o, 13 0)

4000

3000

2000

1000

©1uizp4ve+u4 [ 25
Foe-. pO 4274+ 0.0
pl -35.89 0.00

TP delay [ns]

TVC(cbch) (0,134

4000

- rnun g.9ye+us4 [ 25
- pO 4293+ 0.0
pl -36.91+ 0.00

3000~ 7
2000 [~ 7
1000~ C 7]
O 5(') 10'0 -
TP delay [ns]
TVC(cb, ch) (0.13,8)
c lluwts//e+05/25
4000 o pD 4311+ 0.0
-34.29 + 0.00
3000 - T
2000 - 7
wor C =29.16 [ps/ch] . 7
. -

0

50

1
100

TP delay [ns]

TVC(cbch) (0,13,12

4000

3000

2000

1000

[ C =29.22 [ps/ch]

i zooe+U6 / 25
pO 4294+ 0.0
pl -34.22+ 0.00

50

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (0,13,1)

AT 1z n3e+ud [ 25
Fo= po 4274+ 0.0
p1 -36.82+ 0.00

TP delay [ns]

TVC(c, bch) (0,135

=/ nuiLuule+us / 25
e pO 4294+ 0.0
-36.9% 0.0

TP delay [ns]

TVC(c,b ch) (0, 13

1 nuiLyz2ye+u6 / 25
= DO 4326+ 0.0
p1 -34.19.+ 0.00

[ C =29.25 [ps/ch] . ]

50

1
100

TP delay [ns]

TVC(cbch) (013,13

T inuiLz19e+U6 / 25

P pO
p1

4296+ 0.0
-35.54 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (0,13,2)

AT 1nu szse+04 /25
_- po 4276+ 0.0
[ p1 -35.44 + 0.00

3000

TP delay [ns]

TVC(cbch) (0.13,6

- 11Uy y18e+u5 / 25
- pO 4312+ 0.0
[ pl -37.04 0.00

TP delay [ns]

TVC(cbch) (0, 13 10

T g1/e+u6/25
po 4341+ 0.0
p1 -34.38 % 0.00

FC =29.08 [ps/ch] ™. ]

50

1
100

TP delay [ns]

TVC(cbch) (0,13, 14

pD
pl

T L s0e+u6 /25
4292+ 0.0
-34.8+ 0.0

- C = 28.73 [ps/ch]

50

P
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,13,3)

AT 1z, uoe+Us /25
P po 4294+ 0.0
pl -37.07 + 0.00

TP delay [ns]

TVC(c, bch) (0,137

=1 Uy 9uve+us / 25
- pO 4301% 0.0
p1 -36.34+ 0.00

TP delay [ns]

TVC(cbch) (o, 13 1

T inuigz/4e+U6 / 25
po 4340+ 0.0
pl -35.36 + 0.00

TP delay [ns]

TVC(cbch) (0,13,15

T nuiLo/oe+u6 / 25
4312+ 0.0
-36.29+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(CbCh) (o, 14 0)

©rnuizyoze+ud [ 25
= pO 4242+ 0.0
p1 -36.43 + 0.00

TP delay [ns]

TVC(Cbch) (o, 14 4

- 1nuiz.40ze+04 [ 25
== po 4260+ 0.0
pl -34.64 + 0.00

[ C =28.87 [ps/ch]™_ ]
_ o
TP delay [ns]
TVC(c,b, ch) (o, 14 8)
~ i /11e+U5 / 25
= pO 4256:‘
pl -35.27 + 0.00

TP delay

TVC(Cbch) (o, 14 12

[ns]

1, 139e+U5 / 25
4273+ 0.0
-35.81+ 0.00

L n n n n 1
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (0,14,1)

AT 1 nuig,ss2e+U4 [ 25
Pee. po 4253+ 0.0
pl -35.75+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 14 5

S nug r11e+u4 [ 25
= 4264+ 0.0
-34.87 + 0.00

[ C =28.68 [ps/ch] 7]

50 150
TP delay [ns]

TVC(c,b ch) (0, 14

prsese, pO

T nuiL3b1e+U6 / 25
4264+ 0.0
p1 -35.81+ 0.00

1
50 00

TP delay

TVC(c,b ch) (0, 14 13

pO

[ns]

T inug 313e+U5 / 25
4277+ 0.0
p1 -36.23+ 0.00

TP delay

[ns]

4000

2000

1000

4000

3000

2000

1000

4000 =,
3000

2000

4000 [,
3000
2000

1000

TVC(CbCh) (0,14,2)

A~ 1nuiz4oze+04 | 25
-, po 4259+ 0.0
L pl -35.84 + 0.00

3000

TP delay [ns]

TVC(Cbch) (o, 14 6

- nu.u3be+u4 / 25
pO 4259+ 0.0
pl -33.97 + 0.00

TVC(Cbch) (0,14,3)

4000 [Gu

3000

2000

1000

A~ 1 UG bbse+usd | 25
po 4254+ 0.0
pL -35.17:+ 0.00

TP delay [ns]

TVC(c,b Ch) (0, 14 7

< Inun16/e+U5 /25
po 4259+ 0.0
pl -34.49  0.00

- C = 29.44 [psich] ™.

50 10'0
TP delay [ns]

4000 [,
3000 7
2000 [ 7
w0 C =29.00 [ps/ch] s, 7
% T
TP delay [ns]

1000

0

TVC(eb,ch)=(0, 14, 10

pO
pl

1 nuiLyz4e+U6 / 25
4274+ 0.0
-35.69+ 0.00

TP delay

TVC(CbCh) (o, 14 14

pD

[ns]

-1 nuig.gove+Us / 25
4293+ 0.0
pl -37.01+ 0.00

TP delay

[ns]

TVC(e.beh)=(0, 14, 11

4000 [,

1 nuiLyzze+u6 / 25
4273+ 0.0
-35.78 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (0, 14 15

4000 pO

[ns]

Tinung/e+U5 /25
4296+ 0.0
p1 -37.17 + 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(CbCh) (0,15,0)

A1,

po
pL

r21e+04 125
4249+ 0.0
-33.59+ 0.00

[ C=29.77 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (0,154

pO
pL

Tz 10/e+u4 / 25
4269+ 0.0
-36+ 0.0

TP delay [ns]

TVC(cbch) (0, 15 8

pO
p1

Ty 4r4e+04 [ 25
4274+ 0.0
-35.24 + 0.00

TP delay [ns]

TVC(cbch) (0,15, 12

T 1, (42e+05 / 25
4278+ 0.0
-34.72+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (0,15,1)

AT 1 nuz.zobe+ud [ 25

== po 42473‘
pl -33.06 + 0.00
[ C=30.25[ps/ch] ™=, ]
TP delay [ns]

TVC(cbch) (0,155

-1 nu zoye+u4 [ 25
4271+ 0.0
-36.29 + 0.00

TP delay [ns]

TVC(c,b ch) (0, 15

-/ U, yaze+Us | 25
po 4306+ 0.0
pL -35.24+ 0.00

1
100

TP delay [ns]

TVC(cbch) (0.15,13

pO
p1

Tinunoage+us /25
4269+ 0.0
-34.58 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

4000 [,
3000
2000

1000

TVC(CbCh) (0,15,2)

- w0

K™ 1 nuiz4nae+04 /25
4273+ 0.0
pl -35.29+ 0.00

TP delay

TVC(cbch) (0.15,6

= PO

[ns]

T InuB.07 (e+04 [ 25
4275+ 0.0
p1 -36.38 + 0.00

1
100

TP delay [ns]

TVC(cbch) (0, 15 10

pO

pl

1L, 78be+U6 / 25
4319+ 0.0
-35.82+ 0.00

1
100

TP delay [ns]

TVC(cbch) (0.15, 14

pD
pl

~ vy, 104e+05 / 25
4266+ 0.0
-34.27 + 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (0,15,3)

po
pL

AT rnuazry1e+ud [ 25
4267+ 0.0
-34.85+ 0.00

[ C =28.70 [ps/ch]

1 1
50 100

TP delay

TVC(c, bch) (0,15, 7

- rnuzyrze+us/ 25
4287+ 0.0
pl -36.47 + 0.00

pO

[ns]

TP delay [ns]

TVC(cbch) (o, 15 1

1 nuiLyuze+u6 / 25
pO 4292+ 0.0
p1 -34.16 + 0.00

TP delay

TVC(cbch) (0, 15,15

= pO

[ns]

T nup,zz8e+U5 [ 25
4275+ 0.0
p1 -34.79.+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,0)

K™ 1 ruze+U4 [ 25
po 4241+ 0.0
p1 -36.19+ 0.00

TP delay [ns]

TVC(cbch) (10,4

- 1 924e+04 [ 25
po 4223+ 0.0
pl -35.93+ 0.00

0

- C =
- o
TP delay [ns]
TVC(cbch) (1 0,8) —
T rnuzbyre+ud /25
= pO 4244:‘
pL -34.34 + 0.00
[C=29.12 [ps/ch] ™, 1]
- o
TP delay [ns]
TVC(c,b ch) (1, O 12

~1nug.z45e+05 / 25
po 4253+ 0.0
pl -34.86 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,1)

AT 1L, rzse+u4 | 25
po 4245+ 0.0
p1 -36.8+ 0.0

TP delay [ns]

TVC(c,b ch) (1, O

=1 Uz Us4e+u4 [ 25
4231+ 0.0
-35.4 + 0.0

50 150
TP delay [ns]

TVC(c,b ch) (1 0,9

[ C =29.03 [ps/ch]

T nugbz3e+us [ 25
e, pO 4260+ 0.0
p1 -34.45+ 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (1, O 13

T nui 110e+U5 / 25
pO 4255+ 0.0
p1 -35.88+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

TVC(cbch) (1,0,2)

X~ 1 iz Ozoe+u4 | 25
-, po 4236+ 0.0
[ p1 -35.52+ 0.00

3000

TP delay [ns]

TVC(cbch) (10,6

T 1nu.447e+04 | 25
= pO 4241+ 0.0
- pl -35.39 + 0.00

3000

TP delay [ns]

TVC(eb,oh)=(1, 0, 10

T y.0Ye+u5/ 25
po 4273+ 0.0
p1 -34.58  0.00

TP delay [ns]

TVC(cbch) (1,0,14

T go1e+U5 / 25
= pD 4270+ 0.0
L p1 -37.19+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,3

A1 nuiz 1z5e+u4 [ 25
- po 4261% 0.0
pL -36.32:+ 0.00

TP delay [ns]

TVC(c,b ch) (1 0,7

= 1nuiy 10e+04 / 25
be=s, po 4251+ 0.0
p1 -36.22+ 0.00

50 160
TP delay [ns]

TVC(c,b ch) (1, O

T utme+u6/25
po 4281+ 0.0
p1 -35.26 + 0.00

TP delay [ns]

TVC(c,b ch) (1, O 15

T nan 1 Boe+us /25
po 4261+ 0.0
p1 -36.34 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,0)

b po

A7 nui rove+u4 /25
4234+ 0.0
-36.1+ 0.0

pl

TP delay

TVC(cbch) (11,4

[ns]

T zo3e+ud | 25
4233+ 0.0
-35.6+ 0.0

50 10‘0
TP delay

TVC(ebioh)=(1, 1,8

[ns]

RRALESE 2Ule+U4 125
4000 o pD 4251+ 0.0
p1 -34.57 + 0.00
3000 - 7
2000 - ]
w0 C =28.93 [ps/ch]™, 7]
1 L -
d 50 100
TP delay [ns]
TVC(cbch) (1,1,12)
Tz, (04e+U5 / 25
2000 5 pO 4264+ 0.0
p1 -36.2 + 0.0

3000

2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,1)

e, po

p1

AT 1 nuiLBy4e+u4 [ 25
4254+ 0.0
-35.57 + 0.00

TVC(c,b ch) (1, 1

E pO

pl

1
100

TP delay [ns]

- 1nublze+ud [ 25
4252+ 0.0
-36.04 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, 1

po

pl

~ 1 nug.z40e+U5 / 25
4268+ 0.0
-34.16 + 0.00

1
100

TP delay [ns]

TVC(cbch) (1,1,13

freeee pO

p1

Tnazuse+us /25
4258+ 0.0
-36.62+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,1,2)

= PO

AT 1nuiry1e+04 /25
4252+ 0.0
p1 -35.24+ 0.00

TP delay

TVC(cbch) (11,6

= P°

[ns]

-1z 458e+04 | 25
4260+ 0.0
pl -35.93 + 0.00

TP delay

TVC(ebeh)=(1, 1, 10

== b

[ns]

T nuiL133e+U6 / 25
4270+ 0.0
p1 -34.17 + 0.00

1
100

TP delay

TVC(cbch) (1,1,14

pD

[ns]

T rnuiL433e+Us / 25
4269+ 0.0
pl -36.68 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (1,1,

e po

pl

3

AT 1 nuz.2uve+ud [ 25
4259+ 0.0
-34.89 + 0.00

TVC(c,b ch) (1 1,7

1
100

TP delay [ns]

-1 nuy 3uYe+u4 / 25
4257+ 0.0
-35.11 + 0.00

= po
pL
[ C =28.48 [ps/ch] ]
& o
TP delay [ns]

TVC(c,b ch) (1, 1

e, pO

1)
T nan1.use+u6 / 25
4275+ 0.0
-34.83+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

15

T inuiz g oe+U5 / 25
4255+ 0.0
-35.09+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,0)

T Lose+ud /25
fo- pO 4254+ 0.0
p1 -36.57 + 0.00

TP delay [ns]

TVC(cbch) (1,24

- L BBe+ud / 25
=5 po 4271+ 0.0
pl -35.78 + 0.00

TP delay [ns]

TVC(ebch)=(1,2,8

- w2 re+0d [ 25
- pD 42513 0.0
p1 -34.83+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2 12

po
p1

1, 503e+U5 / 25
4290+ 0.0
-36.5+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (1,2,1)

AT 1 nuiLy1ye+u4 / 25
po 4252+ 0.0
p1 -35.16 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

-1 nu 18Ye+u4 [ 25
pO 4289+ 0.0
pL -35.69+ 0.00

TP delay [ns]

TVCebeh)=(1,2,9

1 nuiLu4be+u6 / 25
po 4263+ 0.0
p1 -34.83+ 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (1, 2 13

71 nuis.q0e+U5 / 25
4291+ 0.0
-37.03+ 0.00

il
100

TP delay [ns]

4000

2000

4000

3000

2000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,2,2)

1000

TP delay [ns]

TVC(cbch) (1,26

1000

P~ b

X~ 1z Lige+ud | 25
- po 4267+ 0.0
[ p1 -35.61 0.00

3000

111Uy, 550e+04 [ 25

pl -35.84 + 0.00

4296+ 0.0

TP delay [ns]

TVC(c,b, ch) (1, 2 10

1 nuiL 482e+U6 / 25

__ pO 4270+ 0.0
o pl -34.85+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, 2

pD
pl

14

~1nuggure+Us / 25
4290+ 0.0
-36.01+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,3

- po 4259+ 0.0
pL -34.57+ 0.00

A1 nuzzo1e+ud [ 25

[ C =28.93 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (1 2,7

po 4289+ 0.0
p1 -35.47 + 0.00

-1 nu Zbze+U5 / 25

TP delay [ns]

TVC(c,b ch) (L2

= pO 4293+ 0.0

g bbbe+U6/25

35.58 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, 2 15

T 1 num, so0e+U5 / 25
4284+ 0.0
-35.96 + 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,0

K™ 1 nuig 1uae+ud / 25
- po 4266+ 0.0
pl -37.12+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,34

T 2.30e+04 / 25
e pO 4260+ 0.0
pl -37.08:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 3,8

~ 1, 1u4e+04 / 25
- po 4286+ 0.0
pl -35.19+ 0.00

TP delay [ns]

TVC(cbch) (1,312

Tz 101e+05 /25
4243+ 0.0
-33.23+ 0.00

[ C =30.09 [ps/ch] ™_ 1

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (1,3,1)

= po

AT 1 nuig,1z4e+U4 [ 25

pl -35.72+ 0.00

4264+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 3

F- pO

1, (zoe+u4 | 25

pl -38.35+ 0.00

4293+ 0.0

TP delay [ns]

TVC(c,b ch) (1 3,9

1 nuig.4bbe+U5 / 25

po 4300+ 0.0
pL -35.74+ 0.00

1
100

TP delay [ns]

TVC(C, bch) (1,313

pO
p1

Tananyz1e+u5 /25
4246+ 0.0
-33.37+ 0.00

[ C=29.97 [ps/ch] ™ ]

PR BRSNS |
50 100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

4000

3000

2000

1000

1000

TVC(cbch) (1,3,2)

- po

A~ 1nug f10e+04 /25
4268+ 0.0

p1 -36.01+ 0.00

TP delay [ns]

TVC(cbch) (1,36

112, (o8e+u4 [ 25

e pO 4293+ 0.0
[ pl -38.19 0.00

50 100
TP delay [ns]

TVC(cbch) (1, 3 10

1 nuiL 304e+U6 / 25

po 4313+ 0.0
pl -35.55+ 0.00

1
100

TP delay [ns]

TVC(cbch) (1,3 14

e

PO
pl

4121125
4246+ 0.1
-33.36 + 0.00

- C =29.98 [ps/ch] ™ 1

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,3

AT 1 nuzosze+ud [ 25
- po 4283+ 0.0
p1 -36.5+ 0.0

TP delay [ns]

TVC(c,b ch) (1 3,7

“rnuan 1use+us [ 25
- pO 4295+ 0.0
pL -37.76+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (1, 3

T, 114e+u6125
po 4298+ 0.0
p1 -35.27 + 0.00

TP delay [ns]

TVC(C, bch) (1,315

T nuiz z3se+us [ 25
4249+ 0.0
-33.92+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,0)

X~ 1z uyse+u4 [ 25
= po 4282+ 0.0
p1 -38.24 + 0.00

TP delay [ns]

TVC(cbch) (14,4

- rnuiz,041e+04 [ 25
== po 4259+ 0.0
pl -34.93+ 0.00

TP delay [ns]

TVC(ebch)=(1,4,8

- 1 Ss1e+04 1 25
- po 4300+ 0.0
p1 -36.51+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 4 12

© vy, 34ue+U5 / 25
po 4256+ 0.0
pl -34.75+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (1,4,1)

A 1wz Soae+ud | 25
E po 4287+ 0.0
pL -38.8+ 0.0

TP delay [ns]

TVC(c,b ch) (1, 4

-1 nuz 293e+ud | 25
== po 4275+ 0.0
pl -35.89 + 0.00

TP delay [ns]

TVC(c,b ch) (1,4,9

T inaiL1/4e+U6 / 25
pO 4316+ 0.0
pl -36.33 + 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (1, 4 13

Tinanz /oe+u5 /25
pO 4269+ 0.0
p1 -35.74 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

0

TVC(cbch) (1,4,2)

- po

X~ 1 1uiz6roe+V4 [ 25

p1 -37.94+ 0.00

4289+ 0.0

TP delay [ns]

TVC(cbch) (14,6

1 nui, (13e+04 / 25

- pO 4280+ 0.0
[ p1 -36.42+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 4, 10

11111 bbae+U6 / 25

pO 4334 0.0
p1 -37.06+ 0.00

TP delay [ns]

TVC(cbch) (1,4,14

1 nuiz.438e+U5 / 25

- pD 4272+ 0.0
[ p1 -35.65:+ 0.00

P R T
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,3)

e po 4289+ 0.0
pL -37.6+ 0.0

A1 nuiz 731e+u4 [ 25

TP delay [ns]

TVC(c,b ch) (1 4,7

= po 4282+ 0.0
p1 -35.63+ 0.00

-1 nui U3ze+U5 / 25

TP delay [ns]

TVC(c,b ch) (1,4,

11)
pO 4320+ 0.0

1 UL byY3e+u6 / 25

36.05 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 4 15

Fvene pO 4262 0.0
pL -35.98+ 0.00

gy r4e+U5 / 25

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,5,0)

X~ 1z uLse+u4 [ 25
po 4249+ 0.0
p1 -35.57 + 0.00

TP delay [ns]

TVC(cbch) (1,54

- 1wz 1use+ud [ 25
po 4282+ 0.0
pl -35.93+ 0.00

- C =
- o
TP delay [ns]
TVC(cbch) (1 5,8

i b rse+ud [ 25
pD 4294 0.0
p1 -36.31 0.00

TP delay [ns]

TVC(cbch) (1,512

~ i, rose+U5 / 25
po 4305+ 0.0
pl -35.82+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,5,1)

X1 wizdrzerud ] 25
po 4253+ 0.0
pL -35.37+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5

-1 nu 3yye+ud [ 25
pO 4283+ 0.0
pL -36.01% 0.00

50 150
TP delay [ns]

TVC(c,b ch) (1 59

T nu.Z/5e+U5 / 25
po 4309+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 5 13

T nuizyble+us/ 25
pO 4300+ 0.0
p1 -35.67 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (1,52)

T zose+ud /25
pO 4258+ 0.0
p1 -35.61+ 0.00

TP delay [ns]

TVC(cbch) (1,556

-1 nuz,9yge+u4 | 25
pO 4301 0.0
p1 -36.65 + 0.00

TP delay [ns]

TVC(eb,oh)=(1, 5, 10

1000

T nuiL by re+U6 / 25
po 4318+ 0.0
p1 -36.64 + 0.00

TP delay [ns]

TVC(cbch) (1,5,14

~1nuiLp4se+Us / 25
pD 4299+ 0.0
p1 -35.4+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,5,3)

A~ 1 s, Lioe+ud 1 25
po 4266+ 0.0
pL -35+ 0.0

TP delay [ns]

TVC(c,b ch) (1 57

= 1 nu Tove+ud / 25
po 4299+ 0.0
pl -35.48 + 0.00

TVC(c,b ch) (1, 5

TP delay [ns]

T 4/be+u6/25
pO 4326+ 0.0
pl -36.61+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 5 15

T nuiz.a3ae+U5/ 25
pO 4309+ 0.0
p1 -35.47 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,0)

X~ 1wz uzoe+U4 [ 25
4253+ 0.0
-37.05+ 0.00

TP delay [ns]

TVC(cbch) (16,4

Tz z1ye+u4 | 25
4280+ 0.0
-36.72+ 0.00

pO
pl
TP delay [ns]
TVC(cbch) (16.8)
- g yoyve+ud / 25
= pO 4278+ 0.0
pL -34.77 + 0.00
- C =28.76 [ps/ch]™_ 1
1 1 -
50 100
TP delay [ns]
TVC(Cbch) (1, 6 12)
-1 g oyse+us / 25
= po 4285+ 0.0
pl -37.14+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (1,6,1)

e, po

AT 1 nuzuLbe+u4 / 25
4257+ 0.0
-36.59 + 0.00

p1

TP delay [ns]

TVC(c,b ch) (1, 6

-1 nu.4o8e+04 / 25
4276+ 0.0
-36.16 + 0.00

TP delay [ns]

TVC(c,b ch) (1 6,9

T inuigz/ye+us / 25
4292+ 0.0
-35.09 + 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (1, 6 13

T nuiLg1oe+U5 / 25
4283+ 0.0
-36.33+ 0.00

il
100

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000
3000

2000

4000

3000
2000

1000

TVC(cbch) (1,6,2)

1000

= po

X~ 1 iz byze+u4 | 25
4266+ 0.0
p1 -37.41% 0.00

TP delay

TVC(cbch) (16,6

F= P°

[ns]

-1 nu,ggve+u4 | 25
4278+ 0.0
pl -35.62 + 0.00

TP delay

TVC(eb,oh)=(1, 6, 10

1000

pO

[ns]

T nu1.09e+U6/ 25
4301+ 0.0
p1 -34.78 + 0.00

1
100

TP delay

TVC(cbch) (1,614

[ns]

-1 nuiLguYe+Us / 25
4276+ 0.0
pl -35.96 + 0.00

TP delay

P R T
50 100

[ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,3)

e po

pl

A7 1 nuz.409e+U4 / 25
4270+ 0.0
-35.83+ 0.00

TVC(c,b ch) (1 6,7

pO
pl

1
100

TP delay [ns]

-1 nug bbye+u4 / 25
4275+ 0.0
-35.05+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, 6

pO

pl

RIS zb/e+u6/25
4289+ 0.0
-34.42+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 6 15

71 nuis 1obe+U5 / 25
4267+ 0.0
-36.04+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,0

A~ 1 nuiosre+u4 [ 25
= po 4243+ 0.0
p1 -35.36+ 0.00

TP delay [ns]

TVC(cbch) (17,4

- 1wz 14pe+u4 [ 25
== po 4256+ 0.0
pl -36.73+ 0.00

50 10'0
TP delay [ns]

TVCebeh)=(1,7,8

- b rse+ud [ 25
- po 4276+ 0.0
p1 -36.34 + 0.00

TP delay [ns]

TVC(cbch) (1,7,12

T g5z e+U5 / 25
pO 4277+ 0.0
-35.28 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (1,7,1)

A7 1 nuz,1ove+ud / 25
po 4261+ 0.0
p1 -36.25 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 7

-1 U 38be+u4 [ 25
4254+ 0.0
-36.5 % 0.0

50 150
TP delay [ns]

TVCEebeh)=(1,7,9

~ 1 nuig ysae+us / 25
4272+ 0.0
-35.6 + 0.0

1
50 00

TP delay [ns]

TVC(c,b Ch) (1, 7 13

T nui B4se+U5 [ 25
pO 4283+ 0.0
p1 -36.25+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

0

4000
3000
2000

1000

TVC(cbch) (1,7,2)

X~ 1 iz 18be+u4 [ 25
-, po 4253+ 0.0
L pl -35.48 + 0.00

3000

TP delay [ns]

TVC(cbch) (17,6

- Ui b1ze+U6 / 25
e pO 4283+ 0.0
[ pl -36.68+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 7, 10

-l 111e+067 25
pO 4274+ 0.0
p1 -35.65+ 0.00

TP delay [ns]

TVC(cbch) (1,7,14

T 1L o4 e+U5 / 25
4277+ 0.0
-35.31+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,7,3)

i Lbse+ud | 25
- pO 4272+ 0.0
pL -36.54 + 0.00

TP delay [ns]

TVC(c,b ch) (1 7,7

= rnui 1z0e+05 / 25
= po 4278+ 0.0
p1 -37.16 + 0.00

50 160
TP delay [ns]

TVC(c,b ch) (L7,

1)
T nuiL4z1e+U6 / 25
pO 4284+ 0.0
-36.28 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 7 15

-1 nuiz.yyse+us / 25
pO 4283+ 0.0
p1 -35.5+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,0)

b po

© g, Lioe+ud /25
4232+ 0.0
p1 -35.95+ 0.00

TP delay

TVC(cbch) (18,4

[ns]

- rnuz,zge+u4 | 25
4275+ 0.0
pl -37.78 + 0.00

e pO
[ C=26.47 [psl/c ]
5(') 100 =
TP delay [ns]
TVC(cbch) (1 8,8)
T rnun 3.54e+04 /25
= pD 4264+ 0.0
pl —36.51&;‘

TP delay

TVC(cbch) (1,812

pO

[ns]

-1 nuizp4ve+Us / 25
4292+ 0.0
pl -36.35+ 0.00

L n n n n 1
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (1,8,1)

e, po

X~ 1 wizdroe+ud | 25
4262+ 0.0
pL -37.01% 0.00

TP delay

TVC(c,b ch) (1, 8

[ns]

S nu1/ze+04 [ 25
4266+ 0.0
pl -37.29 % 0.00

TP delay

TVC(c,b ch) (1 8,9

e, po

[ns]

T a7 /3e+U5 / 25
4280+ 0.0
p1 -35.97 + 0.00

1
50 00

TP delay

TVC(c,b Ch) (1, 8 13

[ns]

Tinuig.z4/e+U5/ 25
4273+ 0.0
p1 -35.15+ 0.00

TP delay

[ns]

4000

3000

2000

4000

3000

2000

1000

4000
3000

2000

4000

3000
2000

1000

TVC(cbch) (1,8,2)

A1,

1000

= po
pl

ruse+u4 [ 25
4264+ 0.0
-36.6+ 0.0

TP delay [ns]

TVC(cbch) (1,86

= PO

p1

- 11Uy bBBe+u4 | 25
4267+ 0.0
-36.96 + 0.00

TP delay [ns]

TVC(eb,oh)=(1, 8, 10

1000

0

T nuiLb31e+U6 / 25
4285+ 0.0
-35.8+ 0.0

1
100

TP delay [ns]

TVC(cbch) (1,814

Trnuig4rze+05 /25
4291+ 0.0
-36.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,8,3)

e po

A~ 1 nuig.0ube+u4 / 25
4268+ 0.0
-36.71+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (1 8,7

-1 nu 132e+05 / 25
4267+ 0.0
-37.04+ 0.00

- pO
pL
- C =
1 1 "
50 100
TP delay [ns]

TVC(c,b ch) (1, 8

T 4bue+u6/25
4280+ 0.0
-35.79 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, 8 15

1 nui, ssBe+US / 25
4290+ 0.0
-35.67 + 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9,0

K- 1nui sz1e+04 [ 25
e po 4254+ 0.0
p1 -36.07 + 0.00

TP delay [ns]

TVC(cbch) (1,94

- 1wz, 038e+u4 [ 25
== po 4269+ 0.0
pl -36.22 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (1 9,8

- huizbube+ud 1 25
- pD 4236+ 0.0
-33.89+ 0.00

4000

3000 - 1

2000~ 7]

oo C = 29.51 [ps/ch] ™, 7

| - o
TP delay [ns]
TVC(Cbch) (1, 9 12
4000

3000

2000

1000

~ 1 nuig,pooe+Us / 25
pO 4257+ 0.0
pl -34.61+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (1,91

A7 1 nuiLbzye+u4 25
- po 4264+ 0.0
pl -35.77+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

-1 nu 1yse+u4d [ 25
- pO 4283+ 0.0
pL -36.67+ 0.00

TP delay [ns]

TVC(c,b ch) (1 9,9

~ 1 nup.Byse+Us / 25
pO 4261+ 0.0
p1 -34.49 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 9 13

T nuiz.u43e+U5 / 25
pO 4247+ 0.0
p1 -34.03+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000
2000

1000

4000

3000

2000

TVC(cbch) (1,9,2)

TP delay [ns]

TVC(cbch) (19,6

1000

X~ 1 nuiz.0uze+ud [ 25
. po 4261 0.0
[ p1 -36.17 £ 0.00

3000

T 3.02e+04 /25
- pO 4290+ 0.0
[ -36.9+ 0.0

TP delay [ns]

TVC(eb,oh)=(1, 9, 10

-1 y.dve+us /25
F pO 4277+ 0.0
L pl -35.38+ 0.00

TP delay [ns]

TVC(cbch) (1,914

1000

Trnuizpr1e+Us /25
= pD 4253+ 0.0
[ p1 -35.18+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,9,3

A~ 1 nuizz19e+ud [ 25
Fome po 4297+ 0.0
pL -38.02:+ 0.00

TP delay [ns]

TVC(c,b ch) (1 9,7

= rnuiL I re+us /25
= po 4290+ 0.0
pl -35.94+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 9

T ba/e+u6/25
po 4263+ 0.0
pl -33.84+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 9 15

71 nuis ygve+us / 25
pO 4258+ 0.0
p1 -34.11+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1, 10 0)

T rnuiLyize+u4 [ 25
= pO 4256+ 0.0
p1 -35.83 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 10 4

- 1L yoze+ud / 25
- pO 4242+ 0.0
p1 -34.39+ 0.00

[ C =29.08 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (1,10,8

© L z34e+05 / 25
= pO 4288+ 0.0
pl -37.15+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 10 12

1z gs4e+U5 / 25
= 4274+ 0.0
-33.78 + 0.00

[ C=29.61[ps/ch] ¥ 1

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (1,10,1)

AT 1 nuz,uzoe+ud | 25
= po 4273+ 0.0
p1 -35.8+ 0.0

TP delay [ns]

TVC(c,b Ch) (1, 10 5

-1 nuz.u33e+u4 / 25
e pO 4244+ 0.0
pL -35.07+ 0.00

TP delay [ns]

TVCebeh)=( 1, 10,9

T nup.123e+U5 / 25
po 4286+ 0.0
p1 -35.79+ 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (1, 10 13

T nai roBe+U5 / 25
= 4277+ 0.0
-32.84+ 0.00

[ C =30.45 [ps/ch] ™= ]
L s
TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

0

4000

3000
2000

1000

TVC(CbCh) (1, 10 2)

~ g ive+ud | 25
-, pO 4258+ 0.0
[ p1 -34.88+ 0.00

3000

TP delay [ns]

TVC(c,b ch) (1, 10 6

1nun Z.4e+04 /25
e pO 4263+ 0.0
| pl -35.29 + 0.00

TP delay [ns]

TVC(cbch) (1, 10 10

T nuiL 38 /e+U6 / 25
= po 4297+ 0.0
[ p1 -36.16+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 10 14

T rnuizur3e+Us /25
__ 4281+ 0.0
L -34.8+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (1,10,3)

A~ 1 nuig.zloe+ud [ 25
- po 4255+ 0.0
pL -34.56+ 0.00

[ C =28.94 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (1, 10 7

- Uy 22oe+04 / 25
4273+ 0.0
-35.6 + 0.0

TP delay [ns]

TVC(eh.eh)=(1, 10, 11

T nuiz.ub/e+u6 / 25
= po 4322+ 0.0
p1 -37.94+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 10 15

T inuizasze+U5/ 25
4263+ 0.0
-33.57+ 0.00

[ C=29.79 [ps/ch] ™ ]

PR R SRR |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (1,11,0)

A

po
pL

1 nuiLyoe+ud [ 25
4262+ 0.0
-37.13+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 11 4

- rnuLyyle+ud / 25
4265+ 0.0
-35.76 + 0.00

e, pO
pL
- C N
1 1 -
50 100
TP delay [ns]
TVC(c,b, ch) (1, 11 8)
T nuiL4/3e+U5 /25
e, po 4285+ 0.0
p1 -36.78:+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 11 12

po
p1

- 1y quve+Us / 25
4292+ 0.0
-35.89+ 0.00

PR
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(CbCh) (1,11,1)

X

po
pL

rnuizurse+u4 [ 25
4270+ 0.0
-36.39 + 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (1, 11 5

~ U 3obe+u4 [ 25
4262+ 0.0
-36+ 0.0

1
100

TP delay [ns]

TVC(cbch) (1,11,9

po

pl

1 nuiL4ube+U6 / 25
4300+ 0.0
-37.32+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 11 13

pO
p1

T inuizy4/e+u5/ 25
4293+ 0.0
-36.41+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000
2000

1000

0

4000 [,
3000
2000

1000

TVC(CbCh) (1,11, 2)

A"

po
pl

1 nug.435e+04 [ 25
4287+ 0.0
-37.25+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 11 6

pD
pl

- g, 138e+04 / 25
4280+ 0.0
-36.05 + 0.00

1
100

TP delay [ns]

TVC(eb,eh)=(1, 11, 10

X

po
pl

1 nuiL go1e+U6 / 25
4316+ 0.0
-36.61+ 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (1, 11 14)

pD
pl

S o z4re+U5 /25
4291+ 0.0
-37.18+ 0.00

P
100

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1,11,3)

X

po
pL

1 nuz poze+ud | 25
4287+ 0.0
-36.3+ 0.0

1
100

TP delay [ns]

TVC(c,b Ch) (1, 11 7

pO
pl

Cnun11/e+U5/25
4287+ 0.0
-35.89+ 0.00

1
100

TP delay [ns]

TVC(Ebeh=(1, 11, 11

pO

pl

T nuiLyu/e+u6 / 25
4320+ 0.0
-36.74 + 0.00

TP delay [ns]

TVC(c,b Ch) (1, 11 15)

T nug.ay3e+us [ 25
4298+ 0.0
-37.32+ 0.00

TP delay [ns]
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3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 =

3000

2000

1000

TVC(CbCh) (1, 12 0)

T rnuiLprye+u4 [ 25
4212+ 0.0
-34.69 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 12 4

- rnuiLylze+ud [ 25
== po 4229+ 0.0
pl -35.15+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (1,12,8

T 1nug.4z3e+04 / 25
= po 4255+ 0.0
pl -35.54 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 12 12

~rnuzg1se+us / 25
po 4246+ 0.0
pl -34.79+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (1,12,1)

e, po

A- 1 L5 e+Ud | 25
4221+ 0.0
-35.12:+ 0.00

p1

1
100

TP delay [ns]

TVC(c,b Ch) (1, 12 5

“nuz1l/e+ud [ 25
pO 4243+ 0.0
p1 -35.45+ 0.00

TP delay [ns]

TVCEebeh)=( 1, 12,9

~ 1 nug.104e+U5 / 25
pO 4251+ 0.0
p1 -34.12+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (1, 12 13
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TVC(Cbch) (2, 10 3)

S 7 225025
- pO 4251+ 0.1
pL -35.95 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 10 7

= 1nuiz, (95e+U5 | 25
po 4279+ 0.0
p1 -35.63+ 0.00

TP delay [ns]

TVC(eb.eh)=(2,10, 11

T nuiLyyle+u6 / 25
po 4322+ 0.0
p1 -37.08:+ 0.00

TP delay [ns]

TVC(cbch) (2, 10 15

T onan o zge+us [ 25
4279+ 0.0
-34.31+ 0.00

TP delay [ns]
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1000
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1000

TVC(CbCh) (2,11,0)

A

1 gove+ud | 25
4234+ 0.0
-35.45+ 0.00

TP delay [ns]

TVC(cbch) (2, 11 4

-z 382e+04 [ 25
4244+ 0.0
-34.65+ 0.00

- pO
pl
[ C =28.86 [ps/ch]™_ 7]
- o
TP delay [ns]
TVC(c,b, ch) (2, 11 8)
- 1L yyye+us / 25
== pD 4269+ 0.0
pl —36.451;‘

TP delay [ns]

TVC(c,b Ch) (2, 11 12

po
p1

Tz e+U5 /25
4283+ 0.0
-35.22+ 0.00
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100
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4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2,11,1)

X
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pL

1z z1ve+u4 [ 25
4250+ 0.0
-36.02+ 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (2, 11 5

pO
pl

“1nu 1b3e+04 / 25
4252+ 0.0
-35.54 + 0.00

50 150
TP delay [ns]

TVC(eh.eh)=(2, 11, 9

1 nuiLusae+u6 / 25
4278+ 0.0
-35.66 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (2, 11 13

pO
p1

T a2z r8e+u5 [ 25
4284+ 0.0
-35.08 + 0.00

TP delay [ns]
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1000

4000 [,
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1000
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1000

TVC(CbCh) (2, 11 2)

pO

- 1 g, z8ye+u4 [ 25
4259+ 0.0
-36.15+ 0.00

pl

TP delay [ns]

TVC(chh) (2, 11 6

pO
p1

T nug,31ve+u4 / 25
4260+ 0.0
-35.71+ 0.00

TP delay [ns]

TVC(ebch)=(2, 11, 10

pO

pl

T nuiLg/1e+U6 / 25
4282+ 0.0
-34.55+ 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (2, 11 14)

pD
pl

- 11Uy, 148e+05 / 25
4293+ 0.0
-35.98 + 0.00
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100

TP delay [ns]
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1000
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1000

TVC(Cbch) (2,11,3)

X

po
pL

g5 ve+ud [ 25
4259+ 0.0
-35.75+ 0.00

1
100

TP delay [ns]

TVC(CbCh) (2, 11 7

= 1 1 bobe+us / 25
4267+ 0.0
-35.6 + 0.0

TP delay [ns]

TVC(Ebeh=(2, 11, 1

pO
pl

T nuiL 7o8e+U6 / 25
4270+ 0.0
-34.77 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 11 15)

pO
p1

T inun15/e+U5/ 25
4286+ 0.0
-35.5+ 0.0

TP delay [ns]
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1oF C = 28.86 [ps/ch]™,_ 7
0 5:) 10'0 -
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1000

TVC(CbCh) (2, 12 0)

Tz, 130e+04 [ 25
= pO 4257+ 0.0
p1 -37.07 + 0.00

TP delay [ns]

TVC(Cbch) (2, 12 4

- rnuiz10/e+04 [ 25
=5 po 4278+ 0.0
pl -36.11 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (2,12,8

- i, 5d0e+U4 1 25
- po 4257+ 0.0
-34.65+ 0.00

TP delay [ns]

TVC(Cbch) (2, 12 12

-1 ug.yoze+Us / 25
= po 4297+ 0.0
pl -35.88+ 0.00

L n n n n 1 n
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TP delay [ns]
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1000

TVC(chh) (2,12,1)

AT rnuzzi1e+u4 [ 25
= po 4270+ 0.0
p1 -38.03 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 12 5

“nu30e+u4 / 25
- pO 4290+ 0.0
-36.5+ 0.0

50 150
TP delay [ns]

TVCEbeh)=(2, 12,9

~ 1 nuig 303e+U5 / 25
- pO 4276+ 0.0
p1 -35.42+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 12 13

T nuiz.usse+us / 25
= pO 4279+ 0.0
p1 -34.63+ 0.00

TP delay [ns]
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TP delay [ns]
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- po 4279+ 0.0
L pl -37.27+ 0.00

3000

©1nug,y4pe+u4 | 25
- pO 4294+ 0.0
L pl -36.44 + 0.00

TP delay [ns]

TVC(e b eh)=(2, 12, 10

Ty, oe+U5 /25
- po 4280+ 0.0
[ p1 -34.76 + 0.00

TP delay [ns]

TVC(c,b Ch) (2, 12 14

1000

T g1se+u5 /25
F pD 4294+ 0.0
L pl -35.58 + 0.00
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TVC(Cbch) (2,12,3)

X1 203e+U4 ] 25
po 4277+ 0.0
pL -36.43  0.00

TP delay [ns]

TVC(c,b Ch) (2, 12 7

= rnui lse+us / 25
[roses. po 4323+ 0.0
p1 -37.36 + 0.00

50 160
TP delay [ns]

TVC(eheh)=(2, 12, 11

<1 nuiL 1b8e+U6 / 25
pO 4283+ 0.0
p1 -34.79 + 0.00

TP delay [ns]

TVC(cbch) (2, 12 15

T nug, r38e+U5 [ 25
po 4281+ 0.0
p1 -34.85+ 0.00

TP delay [ns]
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TVC(CbCh) (2, 13 0)

- 1 i sUoe+u4 [ 25
e pO 4264+ 0.0
p1 -36.62:+ 0.00

TP delay [ns]

TVC(Cbch) (2, 13 4

- 1wz 539e+u4 [ 25
- po 4305+ 0.0
pl -39.87 + 0.00

TP delay [ns]

TVC(ebeh)=(2, 13,8

- I nuiz550e+U4 1 25
e, po 4262+ 0.0
p1 -35.85+ 0.00

TP delay [ns]

TVC(Cbch) (2, 13 12

T 2,.39e+U5/ 25
po 4283+ 0.0
pl -36.43+ 0.00

TP delay [ns]

TVC(c,b ch) (2,13,

4000 fm, po

1)

AT 1 nuiLyuze+u4 25
4281+ 0.0
-36.35+ 0.00

p1
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1000

1
100

TP delay [ns]

TVC(c,b ch) (2,13,

4000 & DO
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5

T nun2.obe+04 / 25
4307+ 0.0
-39.34+ 0.00
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TP delay [ns]

TVCEbeh)=(2 13,9

4000 pO

pl

-1 nug zroe+u5 [ 25
4277+ 0.0
-34.57 + 0.00
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100
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TVC(c,b ch) (2, 13 13

4000 [,

<1 nuiLqyve+U5 / 25
4279+ 0.0
-35.82+ 0.00
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TP delay [ns]
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1000

4000 [,
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1000

TVC(CbCh) (2,13,2)

- P

AT 1 nuzuz4e+04 [ 25
4271+ 0.0
p1 -36.32+ 0.00

TP delay

TVC(Cbch) (2, 13 6

- b

[ns]

-1z Bule+ud / 25
4317+ 0.0
pl -39.46 + 0.00

TP delay

TVC(e b eh)=(2, 13, 10

pO

[ns]

T 1Luse+u6 / 25
4284+ 0.0
pl -35.06 + 0.00

TP delay

TVC(c,b Ch) (2, 13 14

pD
pl

[ns]

-1 nuiLyupe+Us / 25
4280+ 0.0
-35.7+ 0.0

TP delay

[ns]

TVC(Cbch) (2,13,3)

4000 [u

A 247404/ 25

]

po 4286+ 0.0
p1 -36.83+ 0.00
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2000

1000

TP delay [ns]

TVC(c,b Ch) (2, 13 7

4000 =

-1 nuiua3e+us / 25
4316+ 0.0
-38.9+ 0.0
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3000

2000

1000 C

1=
50 00

TP delay [ns]

TVC(ebeh)=(2, 13, 11)

4000 [Caum,

Inur 13e+U6 / 25
pO 4286+ 0.0
pl -35.97 + 0.00

-

3000

2000

1000

TP delay [ns]

TVC(cbch) (2, 13 15

4000 [,

T nuizus/e+u5/ 25
4281+ 0.0
-35.41+ 0.00

2]

3000

2000

1000

TP delay [ns]
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1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (2, 14 0)

T 141e+04/25
- pO 4231+ 0.0
p1 -35.5+ 0.0

TP delay [ns]

TVC(Cbch) (2, 14 4

Tz 1/4e+04 / 25
- pO 4242+ 0.0
p1 -36.75+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (2,14,8

1L 19ve+U5 / 25
- pO 4284+ 0.0
pl -37.26 + 0.00

TP delay [ns]

TVC(Cbch) (2, 14 12

~ 1y 4o8e+U5 / 25
po 4263+ 0.0
pl -35.45+ 0.00

L n n n n 1 n
50 100

TP delay [ns]
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1000
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1000

4000
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2000

1000

4000 [,

3000

2000

1000

TVC(chh) (2,14,1)

A1 nuiLylaerud | 25
po 4236 0.0
pL -35.87+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 14 5

Sonan 2.ze+04 /25
po 4272+ 0.0
pl -37.17 + 0.00

TP delay [ns]

TVCebeh)=(2, 14,9

<1 nuiLyyse+u6 / 25
po 4298+ 0.0
p1 -37.03+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 14 13

Tonun 3.o8e+U5 /25
pO 4266+ 0.0
p1 -36.83+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

0

4000 =,
3000
2000

1000

TVC(CbCh) (2, 14 2)

T inuig, 1ioe+ud [ 25
= pO 42351+ 0.0
L pl -35.66 + 0.00

3000

TP delay [ns]

TVC(Cbch) (2, 14 6

©1nug,b34e+04 / 25
4274+ 0.0
-36.4+ 0.0

TP delay [ns]

TVC(e b eh)=(2, 14, 10

T nuiz4z1e+05 / 25
po 4319+ 0.0
p1 -37.09 % 0.00

TP delay [ns]

TVC(c,b Ch) (2, 14 14

T rnuigyule+us / 25
pD 4263+ 0.0
p1 -36+ 0.0

PR R R S R |
50 100

TP delay [ns]
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1000
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1000

4000
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2000

1000

TVC(Cbch) (2,14,3)

AT 1 nuz415e+U4 [ 25
= po 4237+ 0.0
p1 -34.62+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 14 7

= nuiL 164e+U5 / 25
po 4268+ 0.0
p1 -35.92+ 0.00

TP delay [ns]

TVC(ehch)=(2, 14, 11

T nuiL4p/e+U6 / 25
pO 4310+ 0.0
p1 -37.22+ 0.00

TP delay [ns]

TVC(cbch) (2, 14 15

Tinup.z//e+U5/ 25
Froees, po 4261+ 0.0
-35.61+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000
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2000

1000

4000

3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(CbCh) (2, 15 0)

-1 nuig,1zae+04 [ 25
4232% 0.0
-35.55+ 0.00

TP delay [ns]

TVC(Cbch) (2, 15 4

Tz 353e+u4 / 25
4247+ 0.0
-35.54 + 0.00

foee. pO
pl
- C =
1 1 -
50 100
TP delay [ns]
TVC(c,b, ch) (2, 15 8)
- rnug uBse+ud / 25
= pO 4269+ 0.0
-36.57 + 0.00

p1

TP delay [ns]

TVC(Cbch) (2, 15 12

~ 1z, 144e+05 / 25
4270+ 0.0
-35.09 + 0.00

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000 [

3000

2000

1000

4000 5,

3000

2000

1000

TVC(chh) (2, 15 1)

e, pO

- . zbzerud ] 25
4243+ 0.0
pL -35.43+ 0.00

TP delay

TVC(c,b Ch) (2, 15 5

[ns]

“nuz/1e+u4 /25
4242+ 0.0
-34.56 + 0.00

[ C =28.94 [ps/ch]

50 150
TP delay

TVC(ebeh)=(2 15,9

pO

[ns]

<1 nu.484e+U5 / 25
4287+ 0.0
p1 -35.84 £ 0.00

1
50 00

TP delay

TVC(c,b ch) (2, 15 13

pO
p1

[ns]

~ 1 nui vyae+U5 / 25
4260+ 0.0
-34.7+ 0.0

TP delay

[ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

4000

3000
2000

1000

1000

0

TVC(CbCh) (2,15,2)

= PO

K™ nuizugze+ud | 25
4248+ 0.0
p1 -35.48+ 0.00

TP delay

TVC(Cbch) (2, 15 6

[ns]

Tnubr1e+u4 /25
4257+ 0.0
pl -35.74 + 0.00

= "
[ C=27.98[ps/ch
5(') 10'0
TP delay

TVC(epeh)=(2, 15, 10

pO
pl

[ns]

1 nuiL3yze+U6 / 25
4313+ 0.0
-37.11+ 0.00

TP delay

TVC(c,b Ch) (2, 15 14

e, pD

[ns]

T rnuig4n3e+U5 / 25
4274+ 0.0
pl -35.18+ 0.00

TP delay

[ns]
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1000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,15,3)

o po

AT 1nuiz 2re+ud [ 25
4254+ 0.0
-35.5+ 0.0

pl

TP delay

TVC(c,b Ch) (2, 15 7

[ns]

~ 1 nu.4b0e+u4 [ 25
4267+ 0.0
-35.9+ 0.0

-]

TP delay

TVC(ehch)=(2, 15, 11

[ns]

Tonan117e+u6 /25
4284+ 0.0
p1 -35.25+ 0.00

TP delay

TVC(cbch) (2, 15 15

[ns]

T nug sb3e+us / 25
4258+ 0.0
-33.05+ 0.00

[ C =30.26 [ps/ch] ™=

PR R SRR |
50 100

TP delay

[ns]



TVC(cbch) (3,0,0)

4000

3000

2000

1000

po

K™ 1 zoze+U4 [ 25
4265+ 0.0
p1 -37.97+ 0.00

TP delay

TVC(cbch) (3,0,4

4000

3000

2000

1000

pO

[ns]

Tz, r9se+u4 | 25
4277+ 0.0
pl -37.47 + 0.00

1
100

TP delay [ns]

TVC(cbch) (3 0,8

_ -1 hur 5bbe+ud /25
e po 4222+ 0.0
-33.88+ 0.00

4000
3000~ 7]
2000 ]
oo C = 29.52 [ps/ch] ™, 7]
1 1 -
b =] 00
TP delay [ns]
TVC(c,b Ch) (3, O 12)
- s 5zevu5 25
4000 [ po 4291+ 0.0
pl -35.44+ 0.00

3000
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1000

TP delay

[ns]
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1000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,1)

e, po

A1z 4a1e+U4 ] 25
4233+ 0.0
-36.51% 0.00

p1

TP delay [ns]

TVC(c,b ch) (3 0,5

S nuzyle+ud [ 25
4267+ 0.0
-36.58 + 0.00

TP delay [ns]

TVC(c,b ch) (3 0,9

-1 nu.puse+Us / 25
pO 4257+ 0.0
p1 -34.44 + 0.00

[ C =29.04 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b Ch) (3, O 13

35.53+ 0.00

Tinuizarze+U5/ 25
= pO 4276+ 0.0

il
100

TP delay [ns]

4000

3000

2000

4000

z -

]

moo;— C =26.37 [ps/c
N o+ 10;1-

TVC(cbch) (3,0,2)

1000

= po

A1z B34e+04 [ 25
4253+ 0.0
p1 -37.03+ 0.00

TP delay

TVC(cbch) (3,06

[ns]

T nu,043e+04 / 25
4291+ 0.0
pl -37.92+ 0.00

:
10005— C =29.62 [ps/ch] ™, '
.

4000

3000
2000

1000

TP delay [ns]

TVC(eb,oh)=(3, 0, 10

- 1 nuiLbU3e+U6 / 25
-, po 4243+ 0.0
o pl -33.76 + 0.00

TP delay [ns]

TVC(Cbch) (3, 0 14

T z51e+U5/25
F-. pD 4287+ 0.0
L pl -35.96 + 0.00

TP delay

[ns]
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1000
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1000

TVC(c,b ch) (3,0,

A

e po
pL

3

s,z roe+ud [ 25
4261+ 0.0
-37.01+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3 0,7

S

- pO
p1

w1.32e+U5 /25
4296+ 0.0
-37.81+ 0.00

100

TP delay [ns]

TVC(c,b ch) (3, O

- RIS ze+u6 125
- po 4252+ 0.0
p1 -34.48 + 0.00

[ C=29.00 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (3, O 15

T inu/73e+U5/ 25
=3 4266+ 0.0
-34.49+ 0.00

[ C =28.99 [ps/ch]

50

1
100

TP delay [ns]
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TVC(cbch) (3,1,0)

T zaze+ud /25
- pO 4240+ 0.0
p1 -37.04+ 0.00

TP delay [ns]

TVC(cbch) (31,4

= rnun Zbye+ud [ 25
== po 4259+ 0.0
pl -35.96 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (3 18

<. duse+ud 1 25
e, pD 4246+ 0.0
p1 -35.28+ 0.00

TP delay [ns]

TVC(Cbch) (3, l 12

1wy 5ope+U5 / 25
= po 4261+ 0.0
-34.48 + 0.00

[ C =29.00 [ps/ch]

P R |
50 100
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e, po 4248+ 0.0
pL -36.86+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,5

-1 nu ope+u4 [ 25
e pO 4246+ 0.0
pL -35.35+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,9

T nusay/e+us / 25
- pO 4249+ 0.0
pl -35.99 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, l 13

T inuiz1roe+U5 /25
= pO 4275+ 0.0
p1 -36.54 + 0.00

TP delay [ns]
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TVC(cbch) (3,1,2)

X~ 1z 330e+04 [ 25
- po 4238+ 0.0
L pl -36.12+ 0.00

3000

TP delay [ns]

TVC(cbch) (31,6

T nug,Z1ge+u4 / 25
4265+ 0.0
-36.1+ 0.0

TP delay [ns]

TVC(eb,oh)=(3, 1, 10

1 nuiL 19pe+U6 / 25
- po 4241% 0.0
L p1 -34.7+ 0.0

3000

TP delay [ns]

TVC(cbch) (31,14

~1nuizpole+us / 25
-, pD 4261+ 0.0
L p1 -35.49 + 0.00
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- po 4260+ 0.0
pL -36.04 + 0.00

TP delay [ns]

TVC(c,b ch) (3 1,7

=1 nui4u/e+U5 / 25
- pO 4274+ 0.0
p1 -36.47 + 0.00

50 160
TP delay [ns]

TVC(c,b ch) (3, l

- T, zJ_Le+U6125
= pO 4259+ 0.0
pl -35.95+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 1 15

1 nuis zoe+U5 [ 25
= pO 4269+ 0.0
p1 -35.04 + 0.00

TP delay [ns]
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4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,0

A~ 1nuiL 7 roe+u4 [ 25
= po 4227+ 0.0
p1 -35.58+ 0.00

TP delay [ns]

TVC(cbch) (3,24

- 1nuiz.595e+04 [ 25
== po 4235+ 0.0
pl -35.47 + 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(3, 2,8

- s Szue+ud [ 25
= po 4278+ 0.0
p1 -35.58:+ 0.00

TP delay [ns]

TVC(cbch) (3,212

T, 1zze+05 / 25
4277+ 0.0
-35.3+ 0.0

TP delay [ns]
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1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,2,1)

A 1w Soae+ud | 25
po 4250 0.0
pL -36.65+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,5

- 1nu gl3e+ud / 25
pO 4262+ 0.0
pL -36.85+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 2,9

T nuig.yloe+us / 25
pO 4287+ 0.0
p1 -36.24 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 2 13

TinuiLpr1e+U5/ 25
pO 4281+ 0.0
pl -35.65+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (3,2,2)

X~ 1wz 1y1e+u4d [ 25
- po 4256+ 0.0
L pl -37.38+ 0.00

3000

TP delay [ns]

TVC(cbch) (32,6

- g 2uye+ud / 25
4260+ 0.0
-36.3+ 0.0

TP delay [ns]

TVC(CbCh) (3, 2 10

1000

0

1 nuiLpoye+U6 / 25
- po 4321+ 0.0
N p1 -37.88+ 0.00

3000

TP delay [ns]

TVC(Cbch) (3, 2 14

T L gze+u5/ 25
pD 4272+ 0.0
pl -35.21+ 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (3,2,3

A~ 1 nuiz 338e+u4 [ 25
- po 4256+ 0.0
pL -37.09+ 0.00

TP delay [ns]

TVC(c,b ch) (3 2,7

= i Og3e+us / 25
= po 4261+ 0.0
p1 -35.66 + 0.00

TP delay [ns]

TVC(eheh=(3, 2,

T 4aze+u6/25
pO 4313+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 2 15

T inuiz (2oe+U5/ 25
pO 4286+ 0.0
p1 -35.15+ 0.00

TP delay [ns]
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1000

TVC(cbch) (3,3,0)

b, po

AT 1ze+04 /25
4246+ 0.0
pl -35.65+ 0.00

TP delay

TVC(cbch) (3,34

pO
pL

[ns]

- rnuiLy41e+u4 / 25
4265+ 0.0
-34.17 + 0.00

[ C =29.26 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (3 3,8

T rnun.uz1e+u4 / 25
= po 4267+ 0.0
pl -35.15+ 0.00

TP delay [ns]

TVC(cbch) (3,312

T g sroe+Us / 25
pO 4283+ 0.0
pl -35.71+ 0.00
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1000
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TVC(cbch) (3,3,1)

e, po

AT rnunLrzge+ud [ 25
4256+ 0.0
pl -36.47 + 0.00

TP delay

TVC(c,b ch) (3 3,5

[ns]

-1 nu Zsae+u4 [ 25
4280+ 0.0
pl -35.29 + 0.00

TP delay [ns]

TVC(c,b ch) (3 3,9

-1 hun 5a1e+U5 ] 25
po 4268+ 0.0
pL -34.55+ 0.00

TP delay [ns]

TVC(C, bch) (3,313

1 nuiz.oose+Us / 25
pO 4286+ 0.0
p1 -35.83+ 0.00

TP delay [ns]
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1000

TVC(cbch) (3,3,2)

= PO

A~ 1nuzuroe+ud /25
4271+ 0.0
pl -35.91+ 0.00

TP delay

TVC(cbch) (3,36

- P°

[ns]

T rnun4.58e+04 [ 25
4288+ 0.0
-35.5+ 0.0

1000

TP delay [ns]

TVC(cbch) (3, 3 10

T nuiL3roe+U6 / 25
- DO 4293+ 0.0
L pl 3534+ 0,00

TP delay [ns]

TVC(cbch) (3,314

Ty zae+u5/25
F pD 4271% 0.0
L p1 -35.81+ 0.00

TP delay [ns]
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-34.49 + 0.00

[ C =28.99 [ps/ch]

L
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1
100

TP delay [ns]

TVC(c,b ch) (3 3,7

pO
pl

=1 i buge+us / 25
4300+ 0.0
-34.47 + 0.00

[ C=29.01[ps/ch] %,
& o
TP delay [ns]

TVC(c,b ch) (3, 3

T, ‘JJ_le+U6IZS
po 4292+ 0.0

36.35+ 0.00

TP delay [ns]

TVC(C, bch) (33,15

s, $rze+U5 [ 25

F pO 4291 0.0
pL -36.32:+ 0.00

TP delay [ns]
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1000

TVC(cbch) (3,4,0)

X~ 1w ysze+U4 [ 25
4253+ 0.0
p1 -36.66 + 0.00

TP delay

TVC(cbch) (34,4

[ns]

- rnunLyu3e+ud / 25
4286+ 0.0
pl -36.04 + 0.00

e, pO
- C =
- o
TP delay [ns]
TVC(cbch) (3 4,8

~rnuiz,0rve+Us / 25
4261+ 0.0
p1 -34.23+ 0.00

TP delay

TVC(cbch) (3,4,12

po
p1

[ns]

~ 1 up.uroe+Us / 25
4286+ 0.0
-36.3+ 0.0

L n n n n 1
50 100

TP delay

[ns]
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4000 E,
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TVC(cbch) (3,4,1)

- po

A1z 0a1e+Ua ] 25
4249+ 0.0
-36.2+ 0.0

p1

1
100

TP delay [ns]

TVC(c,b ch) (3 4,5

- pO

-1 U 4n9e+04 [ 25
4291+ 0.0
-36.68 + 0.00

TP delay [ns]

TVC(c,b ch) (3 4,9

e, po

1 nuiL b44e+U6 / 25
4272+ 0.0
-34.63 + 0.00

1
100

TP delay [ns]

TVC(c,b Ch) (3, 4 13

T inug.prze+U5/ 25
4274+ 0.0
-37.1+ 0.0

il
100

TP delay [ns]
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1000
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3000

2000

4000
3000
2000

1000

1000

0

TVC(cbch) (3,4,2)

b po

A~ 1 nuz413e+04 1 25
4244% 0.0
p1 -35.75+ 0.00

TP delay

TVC(cbch) (34,6

[ns]

T ule+u4 /25
4299+ 0.0
pl -37.33+ 0.00

- o
F C = 26.79 [ps/ch .
, s
TP delay [ns]

TVC(eb,oh)=(3, 4, 10

pO
pl

1 a2 39pe+U6 / 25
4279+ 0.0
-35.49 + 0.00

TP delay

TVC(cbch) (3,4,14

[ns]

-1, zoye+Us / 25
4272+ 0.0
-36.7 + 0.0
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TP delay
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1000

TVC(cbch) (3,4,3)

e, po

A1 nuiz8yre+ud [ 25
42651 0.0
-36.8+ 0.0

pl

TP delay [ns]

TVC(c,b ch) (3 4,7

pO
pl

-1 nu 1bbe+us / 25
4301+ 0.0
-35.85+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3, 4

T, uue+u6/25
4284+ 0.0
-34.66 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 4 15

71 nup.yove+u5 / 25
4274+ 0.0
-35.92+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,0)

X~ 1 i sube+U4 / 25
po 4259+ 0.0
p1 -35.22+ 0.00

TP delay [ns]

TVC(cbch) (3,54

T 3r1e+04 /25
pO 4271 0.0
p1 -35.33+ 0.00

4000

3000

2000

1000

4000

3000

2000

1000

TP delay [ns]

TVC(cbch) (3 5,8

-y dure+ud [ 25
pD 4294 0.0
-34.91+ 0.00

0

[ C=28.65[ps/ich] ™ 7
- o
TP delay [ns]
TVC(cbch) (3, 5 12

Ty zz(e+05 /25
po 4343+ 0.0
pl -36.18+ 0.00

TP delay [ns]
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1000

4000
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1000

TVC(cbch) (3,5,1)

A iz izierud ] 25
po 4286+ 0.0
pL -35.7:+ 0.0

TP delay [ns]

TVC(c,b ch) (3 55

-1 nuz.4u3e+04 / 25
4260+ 0.0
-34.66 + 0.00

[ C =28.85 [ps/ch] 7]

50

1
100

TP delay [ns]

TVC(c,b ch) (3 59

[ C =28.46 [ps/ch]

1 nuiL guge+u6 / 25
po 4315+ 0.0
p1 -35.14 + 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (3, 5 13

T inug 7u/e+U5 / 25
pO 4334+ 0.0
-36.61+ 0.00
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50 100

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (3,52)

1000

T zzze+ud |25
pO 4290+ 0.0
p1 -35.87 + 0.00

TP delay [ns]

TVC(cbch) (3,56

- g byve+ud / 25
pO 4262+ 0.0
p1 -34.33+ 0.00

- C =29.13 [ps/ch]

4000

3000

2000

1000

4000

3000
2000

1000

50

1
100

TP delay [ns]

TVC(eb,oh)=(3, 5, 10

- C = 28.83 [ps/ch] .

-l 1.44e+U6 /25
pO 4327+ 0.0
p1 -34.69+ 0.00

0

1
50 100

TP delay [ns]

TVC(Cbch) (3, 5 14

T g plie+us/ 25
pD 4333+ 0.0
pl -36.64 + 0.00

TP delay [ns]
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1000

4000

3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,3)

A~ 1 nuz 4o8e+U4 / 25
po 4298+ 0.0
pl -35.75+ 0.00

TP delay [ns]

TVC(c,b ch) (3 57

< nun 234e+U5 /25
po 4270+ 0.0
pl -34.25+ 0.00

[ C =29.20 [ps/ch]

50

1
100

TVC(c,b ch) (3, 5

TP delay [ns]

[ C=28.77 [ps/ch]

T, /z:ze+u6/25
po 4330+ 0.0
-34.76 + 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (3, 5 15

T inu.z/ye+U5/ 25
pO 4345+ 0.0
p1 -36.73+ 0.00

TP delay [ns]
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3000
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1000

4000
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1000

4000

3000

2000

1000

TVC(cbch) (3,6,0

A~ 1 nui o4ye+u4 25
= po 4230+ 0.0
p1 -34.12:+ 0.00

[ C =29.31[ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (36,4

- 1wz 146e+04 [ 25
=5 po 4299+ 0.0
pl -36.68 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (3 6,8

T z.04e+05/ 25
pO 4282+ 0.0
pl -36.45+ 0.00

TP delay [ns]

TVC(Cbch) (3, 6 12

- 1 nug,guve+Us / 25
po 4268+ 0.0
pl -34.95+ 0.00

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (3,6,1

X1 LBz e+Ud | 25
e, po 4243+ 0.0
pL -34.59+ 0.00

[ C =28.91 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (3 6,5

-1 nu 0aze+ud | 25
[ree, po 4316+ 0.0
pl -37.48 + 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

T nuiL 733e+U6 / 25
pO 4299+ 0.0
pl -35.95+ 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (3, 6 13

~ 1 nup, 155e+U5 / 25
pO 4282+ 0.0
p1 -35.75+ 0.00

TP delay [ns]
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2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,6,2)

A~ 1nui r41e+04 / 25
-, po 4260+ 0.0
[ p1 -35.24 £ 0.00

3000

TP delay [ns]

TVC(cbch) (36,6

S rnu 1 0re+u5 /25
4314+ 0.0
-36.81+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 6, 10

T nuz,138e+U6 / 25
po 4289+ 0.0
p1 -35.01+ 0.00

TP delay [ns]

TVC(cbch) (3,6,14

~ 1wy 480e+05 / 25
pD 4293+ 0.0
pl -36.32+ 0.00
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50 100

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3

A~ 1 nuig.BUbe+U4 | 25
- po 4247+ 0.0
pL -34.56+ 0.00

[ C =28.94 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (3 6,7

= nu, 7 ge+us [ 25
= po 4316+ 0.0
p1 -37.76 + 0.00

50 100
TP delay [ns]

TVC(c,b ch) (3, 6

AL 5/4e+u6/25
pO 4304+ 0.0
p1 -36.41+ 0.00

TP delay [ns]

TVC(c,b ch) (3, 6 15

71 nurs.oyve+U5 / 25
4285+ 0.0
-35.41+ 0.00

TP delay [ns]
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4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0)

po

X~ 1w bose+U4 [ 25
4253+ 0.0
p1 -35.15+ 0.00

TP delay

TVC(cbch) (37,4

[ns]

-1z zu9e+u4 [ 25
4262+ 0.0
pl -35.45+ 0.00

- pO
- C =
- o
TP delay [ns]
TVC(cbch) (3 7,8

T rnuiLb31e+U5 / 25
4268+ 0.0
pl -36.96 + 0.00

TP delay

TVC(cbch) (3,7,12

pO

[ns]

© g szoe+U5 / 25
4271+ 0.0
pl -34.53+ 0.00

TP delay

[ns]
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1000
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1000

TVC(cbch) (3,7,1)

e, po

p1

x- 1 Lo re+Ud | 25
4257+ 0.0
-34.99+ 0.00

TVC(c,b ch) (3 7,5

pO
pl

1
100

TP delay [ns]

Snuz3/e+04 /25
4250+ 0.0
-34.74  0.00

[ C =28.79 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (3 7,9

~ 1 nuiLzoae+U6 / 25
4285+ 0.0
-36.33 + 0.00

TP delay [ns]

TVC(c,b Ch) (3, 7 13

71 nug 550e+U5 / 25
4257+ 0.0
-34.86 + 0.00

TP delay [ns]
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TVC(cbch) (3,7,2)
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X~ 1z 03se+u4 [ 25
4274+ 0.0
p1 -36.05+ 0.00

TP delay

TVC(cbch) (3,7,6

pD

[ns]

Ty, ryoe+u4 | 25
4268+ 0.0
pl -35.81+ 0.00

TP delay

TVC(eb,oh)=(3, 7, 10

[ns]

©1nuizube+U6 / 25
4297+ 0.0
-36.5+ 0.0

TP delay

TVC(Cbch) (3, 7 14

pD

[ns]

T g p31e+us / 25
4257+ 0.0
pl -34.26 + 0.00

TP delay
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4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3)
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4272+ 0.0
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E pO
pl

1
100

TP delay [ns]

-1 nug.UL/e+us / 25
4277+ 0.0
-35.52+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3, 7

- 4bie+U6/25
4294 £ 0.0
-36.66 + 0.00

TP delay [ns]

TVC(c,b ch) (3, 7 15

T nun.yb/e+u5/ 25
4264+ 0.0
-35.25+ 0.00

TP delay [ns]
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A~ 1 nui 9gye+u4 | 25
4279+ 0.0
-37.3+ 0.0

TP delay

TVC(cbch) (38,4

[ns]

- i, r83e+04 / 25
4278+ 0.0
pl -35.29+ 0.00

= pO
[ C =28.34 [ps/ch] ]
o+ o
TP delay [ns]
TVC(cbch) (3 8,8) —
~nung 3zbe+U5 5
== 4307:‘
pl -38.15+ 0.00

TP delay

TVC(Cbch) (3, 8 12

pO

[ns]

T p.ooe+U5/ 25
4286+ 0.0
pl -35.97 + 0.00
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-35.46 + 0.00
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TP delay [ns]

TVC(c,b ch) (3 8,5

~ 1 nu.4nze+04 [ 25
4266+ 0.0
-35.13+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,9

roaee pO

T a2 /e+U6 / 25
4311+ 0.0
-37.33+ 0.00

TP delay [ns]
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4316+ 0.0
-37.72+ 0.00
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2000

1000

4000
3000
2000

1000

TVC(CbCh) (5,15,2)

e, po

A~ 1 nuig roze+V4 /25
4315+ 0.0
p1 -36.44 + 0.00

TP delay

TVC(Cbch) (5, 15 6

F= P°

[ns]

- g Bl3e+ud / 25
4287+ 0.0
pl -36.65 + 0.00

TP delay

TVC(cbch) (5. 15, 10

- "0

[ns]

~1nuy Zo3e+U5 / 25
4301+ 0.0
pl -35.43+ 0.00

TP delay

TVC(CbCh) (5, 15 14

[ns]

-1, 1use+Us / 25
4322+ 0.0
pl -35.88+ 0.00

TP delay

[ns]

TVC(Cbch) (5,15,3)

4000 [

po
pL

AT 1 nus.uave+ud [ 25
4325+ 0.0
-35.25+ 0.00

3000 -

2000

woo- C = 28.37 [ps/ch]

1 1
50 100

TP delay

TVC(c,b Ch) (5, 15 7

2000 pg

[ns]

- nui 125e+05 / 25
4289+ 0.0
pl -35.94+ 0.00

3000 -

2000 -

wooF C =27.83 [ps/ch

TP delay

TVC(cbch) (5, 15 11

T nuiLzoae+U6 / 25
4311+ 0.0
pl -35.88+ 0.00

4000 e,

pO

[ns]

3000

2000

1000

TP delay

TVC(cbch) (5, 15 15

4000 R,

[ns]

T nugny/e+u5/ 25
4306+ 0.0
p1 -35.24 + 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,0)

X~ 1L ysve+U4 [ 25
4205+ 0.0
-33.91+ 0.00

[ C =29.49 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (60,4

- Inui8g/e+u4 [ 25
== po 4225+ 0.0
pl -33.86+ 0.00

[ C =29.53 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (6 0,8

- S12e+04 1 25
- po 4235+ 0.0
p1 -35.81+ 0.00

TP delay [ns]

TVC(cbch) (6,0,12

- 1 nuiz ygoe+u4 / 25
= po 4265+ 0.0
p1 -35.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,01

A1z izaeud | 25
E po 4223+ 0.0
pL -35.37+ 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 0,5

“nu 3/e+04 [ 25
- pO 4238+ 0.0
pL -35.38+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,9

-1 nuiL 1yze+U5 / 25
= pO 4255+ 0.0
p1 -36.41+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, O 13

T nuizg4ve+ud [ 25
- pO 4261+ 0.0
pl -35.52+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (6,0,2)

K~ 1nuiz Oyae+ud | 25

TP delay [ns]

TVC(cbch) (60,6

-, po 4227+ 0.0
[ p1 -34.78 + 0.00

3000

© 1 nu.go4e+04 | 25
- pO 4255+ 0.0
L pl -35.63 + 0.00

TP delay [ns]

TVC(eb,ch)=(6, 0, 10

1000

1 nuz 3uge+Us / 25
- po 4268+ 0.0
L pl -35.64+ 0,00

TP delay [ns]

TVC(cbch) (6,0,14

-1 nuzyiye+ud [ 25
- pD 4255+ 0.0
[ pl -34.99 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3

A1z 3aye+U4 [ 25
e po 4243+ 0.0
p1 -35.43+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,7

- 11Ut d04e+04 | 25
= po 4260+ 0.0
pl -34.64 + 0.00

[ C =28.87 [ps/ch]

50 160
TP delay [ns]

TVC(c,b ch) (6, O

T, /bbe+U5/25
= pO 4273+ 0.0
p1 -35.44 + 0.00

TP delay [ns]

TVC(c,b ch) (6, O 15

-1t psbe+ud [ 25
= pO 4271+ 0.0
p1 -35.79 + 0.00

TP delay [ns]



4000

3000

2000

1000

TVC(cbch) (6,1,0)

e, po

X~ 1w bzbe+U4 [ 25
4234+ 0.0
-36.78 + 0.00

pl

TP delay [ns]

TVC(cbch) (6.1,4

— =g, l)bleﬂJA 125
4000 o po 4232+ 0.0
pL -34.12+ 0.00
3000~ 7
2000 - 1
wor C =29.31 [ps/ch] ™, ]
1 1 -
50 100
TP delay [ns]
TVC(cbch) (6,1,8)
© 1 nuy.4p4e+04 / 25
4000 [ pD 4251+ 0.0
-34.43+ 0.00
3000 - 7
2000 - 7
1000~ C = 29.04 [pS/Ch] T
1 1 -
b 50 100
TP delay [ns]
TVC(cbch) (6,1,12)
T, (zse+U5 / 25
4000 2 pO 4250+ 0.0
pl -35.49+ 0.00

3000

2000

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,1)

- po

AT 1 nuz.Zove+ud | 25
4255+ 0.0
-37.28 + 0.00

p1

TP delay [ns]

TVC(c,b ch) (6 1,5

pO
pl

- U 3yle+ud / 25
4218+ 0.0
-35.14 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6 1,9

Tonur 1.4e+U6 /25

4274+ 0.0
-34.51+ 0.00

[ C =28.98 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b Ch) (6, l 13

T inuiLpr3e+us/ 25
4245+ 0.0
-35.28 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,1,2)

= po

K™ 1nuiz4uze+u4 | 25
4271 0.0
-37.75+ 0.00

pl

TP delay [ns]

TVC(cbch) (61,6

= PO

p1

- g 3vze+04 [ 25
4255+ 0.0
-35.93 + 0.00

TP delay [ns]

TVC(eb,oh)=(6, 1, 10

Ty rze+U6 /25
= po 4286+ 0.0
[ pL -35.17+ 0.

-35.17 + 0.00

TP delay [ns]

TVC(cbch) (61,14

~ L bo3e+U5 / 25
4243+ 0.0
-34.86 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3)

e po

AT 1 nuz410e+U04 / 25
4254+ 0.0
-37.27 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (6 1,7

pO
pl

=1 Uk bybe+u4 / 25

4245+ 0.0
-34.62 + 0.00

[ C =28.88 [ps/ch]

50

1
100

TP delay [ns]

TVC(c,b ch) (6, l

= pO

T 94BE+U6/25
4295+ 0.0
-35.17 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (6, 1 15

T nuiz r2oe+U5 [ 25
4250+ 0.0
-35.42+ 0.00

TP delay [ns]



TVC(cb Ch) ( 6x2-22«4e+u4/25 TVC(ch Ch) (s, '2r\\u]v-4)b:7e+u4/25 TVC(eb Ch) ( 6x2uun242ue+u4/25 TvC(eb Ch) ( 6)‘2' ”“:z 2539*04/25
4000 e, po 4259+ 0.0 4000 fm po 4268+ 0.0 4000 __- po 4266+ 0.0 4000 e po 4271+ 0.0
Pl -37.29+0.00 Pl -35.93+0.00 3 pl 3520+ 0.00 Pl -36.36+ 0.00

3000

B 3000 - 3000 - 3000 4

2000 b 2000 — 2000 — 2000

1000 1000 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (62,4 TVC(cbch) (62, TVC(cbch) (62,6 TVC(c, bch) (6.2,

Srna A)ble+U4 125 Tnu; 2U/E+U4/25 Tnu &l):)‘:)eHJd 125 T, 21be+l)4/25
4000 [, pO 4271£ 0.0 4000 f pO 4277+ 0.0 4000 [, pO 4292+ 0.0 4000 s pO 4305+ 0.0
Pl -35.750.00 Pl -36.04 0.00 L Pl -3562% 0.00 Pl -36.07:0.00
3000 g 3000 E 3000 ] 3000 [ B
2000 -] 2000 m 2000 ] 2000 -
1000 - 1000 C T w001~ C = 28.07 [ps/ch] ] wor C =27.73 [pS/Ch 7]
1 i L 1 = 1 L -
50 00 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ehich=(6,2,8) TVC(eh.e=(6,2,9) TVC(eb.eh=(6, 2, 10) TVC(ehe)=(6, 2, 11)
T nug.3yre+ud /25 T 3.64e+05 / 25 Tnun1Use+u6 /25 T 1.uYe+u6 / 25
4000 fome, pO 4276+ 0.0 4000 fae, pO 4317+ 0.0 4000 fome, DO 4310+ 0.0 4000 fs p0 4322+ 0.0
-34.86 0.00 Pl -36.82% 0.00 L PL_ -3557%0.00 Pl -36.47% 000

- 3000

3000~ N 3000 - 3000 -

2000 ] 2000

2000 [~ 2000

1000 1000 1000

w0 C = 28.68 [ps/ch]

1
0 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(621 ) TVC(cbch)(6213) TVC(Cbch)(621 ) TVC(cbch)(6215)
4000 E T nus1se+Us / 25 1000 T 1L oyoe+us / 25 1000 ~ i bz4e+05 / 25 4000 -1 nuiz (Use+U5 / 25
- 0 + - 0 + - 0 + o=, 0 +
B samsom B weeom . B aireom B mereom

- 3000

3000~ T 3000 -1 3000 -1

2000 2000 2000 - 2000

1000 1000 4 1000

1000 C = 28.81 [pS/Ch]

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,0)

X~ 1 rove+U4 [ 25
po 4255+ 0.0
p1 -36.57 + 0.00

TP delay [ns]

TVC(cbch) (63,4

- rnuz 154e+04 / 25
pO 4290 0.0
p1 -37.34+ 0.00

- C T
= T
TP delay [ns]
TVC(cbch) (6 3,8

< huizbiaerud [ 25
pD 4293+ 0.0
p1 -35.89+ 0.00

TP delay [ns]

TVC(cbch) (6,312

-1 nuizuyse+us / 25
po 4288+ 0.0
pl -35.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,31

AT 1 nuiL, fove+u4 [ 25
e po 4261+ 0.0
pl -36.8 + 0.0

TP delay [ns]

TVC(c,b ch) (6 3,5

-1 nu 1bbe+u4 / 25
- pO 4291+ 0.0
-36.3+ 0.0

50 105
TP delay [ns]

TVC(c,b ch) (6 3,9

-1, 5a5e+U5 ] 25
pO 4300+ 0.0
pL -35.19+ 0.00

[ C =28.42 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 3 13

T inuiLag/e+us/ 25
peee. 4276+ 0.0
-34.89+ 0.00

[ C =28.67 [ps/ch] ]

P R TR |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,3,2)

X~ 1 i gsbe+u4 [ 25
-, po 4274+ 0.0
L pl -36.62+ 0.00

3000

TP delay [ns]

TVC(cbch) (63,6

T rnuzzoe+u4 [ 25
- pO 4295+ 0.0
[ p1 -36.02+ 0.00

TP delay [ns]

TVC(eb,oh)=(6, 3, 10

T nun1pye+u6 / 25
__ DO 4325+ 0.0
[ p1 -35.57  0.00

TP delay [ns]

TVC(cbch) (6,3 14

T rnuizu4e+05 /25
- pD 4278+ 0.0
L pl -35.96 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,3

A7 1 nuiLYube+U4 / 25
=3 po 4274+ 0.0
p1 -35.69 + 0.00

TP delay [ns]

TVC(c,b ch) (6 3,7

=1 nui U1Ye+us / 25
- pO 4301% 0.0
p1 -35.56+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 3

T 4b5e+u6/25
- pO 4304+ 0.0
pl -35.36 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 3 15

- 1 uts Ulle+U5 / 25
b, pO 4294+ 0.0
pL -36.17+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,0

A7 1 nui gyse+ud [ 25
- po 4256+ 0.0
pl -35.87 + 0.00

TP delay [ns]

TVC(cbch) (64,4

- 1 1uiLbabe+ud / 25
= 4241+ 0.0
-33.94 + 0.00

[ C =29.46 [ps/ch] ]

50 10‘0
TP delay [ns]

TVC(cbch) (6 4,8

T nuig.3sve+u4 | 25
- pO 4247+ 0.0
p1 -35.42 + 0.00

TP delay [ns]

TVC(cbch) (64,12

T rnuiLs31e+Us / 25
= po 4273+ 0.0
pl -33.38+ 0.00

[ C=29.96 [ps/ch] ™_ ]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1)

T za3e+ud [ 25
foe. pO 4234+ 0.0
p1 -35.34+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,5

-1 nui Ys3e+ud [ 25
4242+ 0.0
-34.7+ 0.0

TP delay [ns]

TVC(c,b ch) (6 4,9

~ 1 nuiLagse+us / 25
= po 4263+ 0.0
p1 -35.01+ 0.00

TP delay [ns]

TVC(C, bch) (64,13

Tinuy,r3ze+u4 /25
P 4274+ 0.0
-34.52+ 0.00

[ C =28.97 [ps/ch] ]

PR BRSNS |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

AT 1nuig Lroe+u4 /25
__— po 4249+ 0.0
o pl -35.98+ 0.00

3000

TP delay [ns]

TVC(cbch) (64,6

T4z ie+04 [ 25
- pO 4246+ 0.0
[ pl -35.17+ 0.00

TP delay [ns]

TVC(cbch) (6, 4 10

T 1w n.59e+U5/ 25
__ DO 4289+ 0.0
- pl -34.58 + 0.00

TP delay [ns]

TVC(cbch) (64,14

~ 1 nup.prye+u4 | 25
- pD 4281+ 0.0
5 pl -33.55+ 0.00

- C =29.81 [ps/ch] ™. 1

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3

AT rnuazzroe+ud [ 25
=3 po 4264+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(c,b ch) (6 4,7

- U Ub3e+u4 / 25
- pO 4256+ 0.0
p1 -34.74+ 0.00

[ C =28.79 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 4

ARV asue+u5/25
4271+ 0.0
-33.58 + 0.00

[ C=29.78 [ps/ch] ™ ]

1
50 100

TP delay [ns]

TVC(C, bch) (64,15

T inui srse+u5 [ 25
= 4277+ 0.0
-34.38 + 0.00

[ C=29.09 [ps/ch] ]

PR PR S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0)

A7 onun g gre+ud [ 25
- po 4261+ 0.0
p1 -35.62+ 0.00

TP delay [ns]

TVC(cbch) (65,4

- g, rope+u4 / 25

= pO 4254+ 0.0
p1 -34.03+ 0.00

[ C =29.38 [ps/ch]

50 10'0
TP delay [ns]

TVC(cbch) (6 5,8

- huizdarerud | 25
= po 4275+ 0.0
p1 -35.63+ 0.00

TP delay [ns]

TVC(cbch) (6,5,12

-1z, so4e+U5 / 25
= po 4279+ 0.0
pl -35.42+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,1

AT 1 nuiLBsbe+u4 / 25
- po 4272+ 0.0
pl -35.54+ 0.00

TP delay [ns]

TVC(c,b ch) (6 55

-1 nug bb3e+u4d [ 25
== 4251+ 0.0
-33.87 + 0.00

[ C=29.52[ps/ch] ». ]

50 150
TP delay [ns]

TVC(c,b ch) (6 59

T nub31e+us / 25
= pO 4267+ 0.0
pl -35.05+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 5 13

T inunz.ave+u5 /25
- pO 4302+ 0.0
p1 -35.88+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,2)

TP delay [ns]

TVC(cbch) (6,56

A~ 1 nuiz oae+ud | 25
- po 4285+ 0.0
[ p1 -36.34 £ 0.00

3000

T nun,347e+04 | 25
fo, pO 4265+ 0.0
[ p1 34+ 0.0

- C = 29.41 [ps/ch] ™.

50 10'0
TP delay [ns]

TVC(eb,ch)=(6, 5, 10

© 1 nuy.432e+05 / 25
- po 4289+ 0.0
- pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (6,5,14

T n1e+U5 /25
F-. pD 4276+ 0.0
| -34.95+ 0.00

F C = 28.61 [ps/ch]

PR R R S R |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3

A~ 1 nuiz015e+ud [ 25
- po 4268+ 0.0
pL -34.71+ 0.00

[ C =28.81[ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 57

= 1 nu Ozge+ud | 25
= po 4267+ 0.0
p1 -34.91+ 0.00

[ C =28.64 [ps/ch]

50 160
TP delay [ns]

TVC(c,b ch) (6, 5

Sy zue+u6/25
= pO 4293+ 0.0
p1 -35.22+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 5 15

-1 nui ssYe+U5 / 25
e po 4290+ 0.0
p1 -35.85+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,0)

po

pl

T L40e+ud /25
4255+ 0.0
-35.25+ 0.00

TP delay [ns]

TVC(cbch) (6.6,4

- i B3ge+u4 / 25
pO 4239+ 0.0
p1 -34.86+ 0.00

[ C=28.68[ps/ich]™,_ 7
% o
TP delay [ns]

TVC(cbch) (6 6,8

T 3.uoe+u4 /25
po 4275+ 0.0
pl -35.48 + 0.00

TP delay [ns]

TVC(cbch) (6,6, 12

T i, rooe+U5 / 25
pO 4288+ 0.0
pl -35.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (6,6,

Sl

po
pL

1

nuiLBUbe+u4 / 25
4266+ 0.0
-35.67 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6 6,5

- nu zzye+u4 [ 25
e, pO 4266+ 0.0
p1 -36.14 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 6,9

~ 1 nug ogze+u5 / 25
- po 4298+ 0.0
-34.61+ 0.00

[C=28.89 [ps/ich] ™. ]

1
50 100

TP delay [ns]

TVC(C, bch) (6,6,13

-/ 1 4ae+U5 ] 25
= pO 4281+ 0.0
pl -35.41+ 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (6,6,2)

po

pl

K71 nuiyzae+u4 /25
4260+ 0.0
-35.31+ 0.00

TP delay [ns]

TVC(cbch) (66,6

-1 b3ze+u4 [ 25
e pO 4253+ 0.0
[ pl -35.31¢ 0.00

TP delay [ns]

TVC(cbch) (6, 6 10

1000

T a7 e+U5 /25
. po 4310+ 0.0
- pl -35.68 + 0.00

TP delay [ns]

TVC(cbch) (6,614

T nuiLpLse+Us / 25
. pD 4277+ 0.0
L pl -35.26 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,3)

po
pL

AT rnu zae+u4 /25
4273+ 0.0
-35.25+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6 6,7

-1 nug.Uble+ud / 25
- pO 4265+ 0.0
p1 -35.74+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 6

SRRV ‘Jb::e+l]5/25
4303+ 0.0
-34.86 + 0.00

[ C =28.68 [ps/ch] §

1
50 100

TP delay [ns]

TVC(C, bch) (6,6, 15

T inuiz.z1ae+U5/ 25
4291+ 0.0
-35.91+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,0)

T Lyoe+ud /25
4244+ 0.0
-35.3+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (67,4

[ C =28.93 [ps/ch]

T bz1e+u4 [ 25
= pO 4256+ 0.0
p1 -34.57:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 7,8

T, r41e+04 / 25
= po 4266+ 0.0
pl -35.81+ 0.00

TP delay [ns]

TVC(cbch) (6,7,12

T rnuzg41e+05 / 25
= po 4307+ 0.0
pl -36.16 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,1

AT 1 nuz.ubye+ud [ 25
- po 4270+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,5

-1 nu bgle+ud [ 25
- pO 4268+ 0.0
pL -35.15+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,9

-1 nu, Uobe+us / 25
= po 4278+ 0.0
pl -36.15+ 0.00

TP delay [ns]

TVC(C, bch) (67,13

T inuizanie+us/ 25
= pO 4303+ 0.0
pl -36.94 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (6,7,2)

A7 1 nug 3ose+u4 /25
- po 4275+ 0.0
- pl -36.08 + 0.00

3000

TP delay [ns]

TVC(cbch) (67,6

- C = 28.69 [ps/ch]

S rnun z.89e+04 [ 25
- pO 4275+ 0.0
[ pl -34.86 + 0.00

3000

50 10‘0
TP delay [ns]

TVC(cbch) (6, 7 10

1000

~1nuiLbe1e+U6 / 25
. po 4297+ 0.0
- pl -36.71+ 0.00

3000

TP delay [ns]

TVC(cbch) (67,14

Tz 1/e+U5 /25
- pD 4307+ 0.0
L pl -36.26 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,3

AT rnuzszie+u4 [ 25
- po 4273+ 0.0
pl -35.36+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,7

[ C=29.12 [ps/ch]

CnuBY/le+ud / 25
- pO 4273+ 0.0
p1 -34.34+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 7

T bque+u6/25
= po 4307+ 0.0
p1 -37.09+ 0.00

TP delay [ns]

TVC(C, bch) (67,15

1 nuisoo3e+U5 / 25
= pO 4315+ 0.0
pl -36.44 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

1oF C = 2866 [ps/ch]™,_ ]
0 5:) 10'0 -

4000

3000

2000

1000

TVC(cbch) (6,8,0

X~ 1L ysze+U4 [ 25
= po 4240 0.0
p1 -34.77 + 0.00

TP delay [ns]

TVC(cbch) (68,4

- 1nuig Loye+ud / 25
P po 4331+ 0.0
pl -38.73+ 0.00

TP delay [ns]

TVC(cbch) (6 8,8

-z Zone+Ud [ 25
= po 4269+ 0.0
-34.89+ 0.00

TP delay [ns]

TVC(cbch) (6,812

1, ro4e+05 / 25
= po 4274+ 0.0
pl -35.59 + 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000
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2000

1000

4000

3000

2000

1000

TVC(cbch) (6,81

AT 1 nuiL, ruve+u4 / 25
= po 4237+ 0.0
p1 -34.61+ 0.00

[ C =28.89 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 8,5

- nu 1zge+ud | 25
e po 4312+ 0.0
pl -37.54 % 0.00

TP delay [ns]

TVC(c,b ch) (6 8,9

~ 1 nuiL z3ye+us / 25
- pO 4274+ 0.0
p1 -34.37 + 0.00

[ C =29.09 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b Ch) (6, 8 13

-1 nuis so4e+ud [ 25
= pO 4292+ 0.0
p1 -35.98 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000:— ]

zoou:— _

1000:— C =28.61 [ps/ch] - _
/ = 00 -

4000

3000

2000

1000

TVC(cbch) (6,8,2)

TP delay [ns]

TVC(cbch) (68,6

A~ 1 nuiLYrae+ud | 25
- po 4261 0.0
[ p1 -34.89+ 0.00

3000

©1nug,b4ge+u4 | 25
- pO 4325+ 0.0
N pl -38.03 + 0.00

TP delay [ns]

TVC(eb,ch)=(6, 8, 10

© 1 nuy.uzze+Us / 25
po 4300+ 0.0
p1 -34.96  0.00

TP delay [ns]

TVC(cbch) (6,814

T rze+U5 [ 25
__- 4274+ 0.0
| -34.5+ 0.0

- C = 28.99 [ps/ch]

PR R R S R |
50 100

TP delay [ns]
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1000
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2000

1000

TVC(cbch) (6,8,3

A~ 1 nuiz.3uYe+ud [ 25
- po 4266+ 0.0
pL -35.6 + 0.0

TP delay [ns]

TVC(c,b ch) (6 8,7

-1 nuy 9ure+u4d /25
- pO 4341+ 0.0
p1 -37.73+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 8

RIS za::e+u6/25
pO 4303+ 0.0
p1 -34.67 + 0.00

[ C =28.85[ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 8 15

T nuiz zoze+U5 [ 25
4283+ 0.0
-34.92+ 0.00

[ C =28.64 [ps/ch] ]

PR R SRR |
50 100

TP delay [ns]



4000

3000

2000

1000

4000
3000~ 7
2000~ 7]
100r C =28.52 [ps/ch]™, 1]
o T
TP delay [ns]
TVC(cbch) (6 9,8)
Tinulg.1ze+04 /25
4000 pD 4277:‘
-34.93 0.00
3000 - ]
2000 |- ]
10r C =28.63 [ps/ch]™, 7]
I - o

4000

3000

2000

1000

TVC(cbch) (6,9,0

K™ 1nuig za3e+04 | 25
e po 4273+ 0.0
p1 -36.48+ 0.00

TP delay [ns]

TVC(cbch) (69,4

- 1nuz,gyze+ud | 25
- pO 4294+ 0.0
p1 -35.06+ 0.00

TP delay [ns]

TVC(Cbch) (6, 9 12

T g olie+us /25
= po 4286+ 0.0
pl -33.88+ 0.00

[ C =29.52 [ps/ch] ™.

L n n n n 1
50 100

TP delay [ns]
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1000
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (6,91

A7 1 nuzsuze+u4 [ 25
- po 4277+ 0.0
p1 -35.69 + 0.00

TP delay [ns]

TVC(c,b ch) (6 9,5

S rnubye+ud [ 25
- pO 4308+ 0.0
-35.7+ 0.0

TP delay [ns]

TVC(c,b ch) (6 9,9

-1 urz.dyse+us | 25
- pO 4287+ 0.0
35.7+ 0.0

TP delay [ns]

TVC(c,b Ch) (6, 9 13

T nuz n30e+U5 / 25
Fome 4286+ 0.0
-35.05+ 0.00

[ C =28.53 [ps/ch] 7

PR R SR |
50 100

TP delay [ns]
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1000

4000

2000

1000
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2000

1000

4000

3000
2000

1000

TVC(cbch) (6,9,2)

X~ 1 g, 138e+04 [ 25
- po 4298+ 0.0
[ p1 -37.53+ 0.00

3000

-
1 | -

TP delay [ns]

TVC(cbch) (69,6

T4 /0e+04 [ 25
- pO 4316+ 0.0
[ 356+ 0.0

3000

TP delay [ns]

TVC(eb,ch)=(6, 9, 10

T nuiLz9e+U6 / 25
- po 4305+ 0.0
- pl -35.82+ 0.00

TP delay [ns]

TVC(cbch) (6,9,14

~ 1 nuiz.4z4e+05 / 25
-, pD 4303+ 0.0
L pl -36.42+ 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (6,9,3

A~ 1 nuiz8Ure+ud [ 25
- po 4302+ 0.0
pL -37.01+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,7

= 1 nuw Tode+ud | 25
fe=s, po 4333+ 0.0
-36.6 + 0.0

TP delay [ns]

TVC(c,b ch) (6, 9

T b/ie+U6/25
- po 4315+ 0.0
-35.9 + 0.0

TP delay [ns]

TVC(c,b ch) (6, 9 15

-1 nuis.ybbe+Us / 25
= pO 4311+ 0.0
p1 -36.35+ 0.00

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (6, 10 0)

T Ly oe+u4 [ 25
- pO 4263+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(cbch) (6.10,4

T 38/e+04 [ 25
- pO 4274 0.0
pl -36.66+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 10 8

1 a2 guve+u4 | 25
= po 4279+ 0.0
pl -36.84 + 0.00

TP delay [ns]

TVC(cbch) (6,10, 12

1 nuz5y4e+05 / 25
= po 4280+ 0.0
p1 -35.2+ 0.0

TP delay [ns]
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6,10,1)

AT 1L szse+u4 [ 25
- po 4266 + 0.0
pl -36.03+ 0.00

TP delay [ns]

TVC(c, bch) (6,10,5

“rnublze+ud [ 25
- pO 4277+ 0.0
pL -36.15+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 10

~ 1 nug. /40e+U5 / 25
e pO 4274+ 0.0
pl -35.73 + 0.00

TP delay [ns]

TVC(cbch) (610,13

T nun L goe+us /25
pO 4282+ 0.0
pl -35.24 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (6,10,2)

K71 nuig z40e+04 /25
- po 4278+ 0.0
o pl -36.21+ 0.00

3000

TP delay [ns]

TVC(cbch) (6.10,6

1000

-1 nuibu4e+u4 [ 25
- pO 4287+ 0.0
[ pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (6, 10 10

1 nuiLz3ve+U6 / 25
=, po 4295+ 0.0
L pl -36.64 + 0.00

TP delay [ns]

TVC(cbch) (6.10, 14

T L ps1e+Us / 25
. pD 4284+ 0.0
L pl -35.24 + 0.00

TP delay [ns]

TVC(Cbch) (6,10,3)

4000 [

3000

2000

1000

AT 1 nunz.ave+ud [ 25
po 4273+ 0.0
pl -36.93+ 0.00

TP delay [ns]

TVC(c, bch) (6,10, 7

4000 [

3000 -

2000

wob C = 27.58 [ps/ch ]

-1 U, 8oe+u4 / 25
pO 4289+ 0.0
pL -36.26+ 0.00

TP delay [ns]

TVC(cbch) (6, 10 1

4000 [us.

3000

2000

1000

T nuiL 338e+U6 / 25
po 4308+ 0.0
pl -36.81+ 0.00

TP delay [ns]

TVC(cbch) (6,10,15

4000 [Gue.

3000

2000

1000

T nuiz zoe+U5 [ 25
pO 4290+ 0.0
p1 -35.46 + 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,11,0)

X~ 1wz zgpe+U4 [ 25
e po 4281+ 0.0
p1 -35.16+ 0.00

TP delay [ns]

TVC(cbch) (6, 11 4

- iU 9dze+u4 [ 25
== po 4239+ 0.0
pl -36.07 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6, 11 8

S s zZ1e+04 [ 25
- po 4287+ 0.0
p1 -35.75+ 0.00

TP delay [ns]

TVC(c,b Ch) (6,11, 12

X~ 1w 543e+05 / 25
- PO 4304+ 0.0
pl -34.75+ 0.00

I C =28.77 [ps/ch]

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,11,1)

A- 1 iz aube+U4 | 25
- po 4278+ 0.0
pL -34.39+ 0.00

[ C =29.08 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(c,b Ch) (6, 11 5

U 119e+04 / 25
== po 4257+ 0.0
pl -37.09 + 0.00

TP delay [ns]

TVC(c,b ch) (6, 11

Tonun13/e+u5 /25
4270+ 0.0
-34.31+ 0.00

[ C =29.15 [ps/ch] ]

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 11 13)

Tonan L zge+us /25
- pO 4303+ 0.0
pl -34.54 + 0.00

[ C =28.95[ps/ch]

PR R SR |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000:— ]
2000:— _:
wof C = 28.48 [ps/ch]™, 7

) 4 o

4000

3000
2000

1000

TVC(CbCh) (6, 11 2)

TP delay [ns]

TVC(chh) (6, 11 6

~rnuizpule+ud [ 25
- pO 4297+ 0.0
[ p1 -35.7+ 0.0

3000

- nug112e+04 / 25
- pO 4264+ 0.0
[ p1 -36.81+ 0.00

TP delay [ns]

TVC(e,beh)=(6, 11, 10

X~ 1 1y Yobe+U5 / 25
po 4295+ 0.0
p1 -35.12+ 0.00

TP delay [ns]

TVC(c,b Ch) (6,11, 14

X~ 1 413e+U5 /25
- po 4320+ 0.0
[ pl -35.57 + 0.00

TP delay [ns]
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1000
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,11,3)

A~ 1 nuizboye+ud [ 25
- po 4305+ 0.0
pL -36.63+ 0.00

TP delay [ns]

TVC(CbCh) (6, 11 7

T nany.aze+u4 [ 25
= po 4268+ 0.0
p1 -35.78 + 0.00

TP delay [ns]

TVC(EDeh)=(6, 11, 11

T nuiLzz9e+U6 / 25
- po 4297+ 0.0
pl -35.32+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 11 15

T nui s30e+U5 / 25
4319+ 0.0
-35.24+ 0.00

I C =28.38 [ps/ch] ]

PR R SRR |
50 100

TP delay [ns]
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1000
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1000

4000
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1000

4000

3000

2000

1000

TVC(CbCh) (6, 12 0)

© L gooe+u4 / 25
= pO 4237+ 0.0
pl -34.4+ 0.0

[ C =29.07 [ps/ch]

1
50 100

TP delay [ns]

TVC(Cbch) (6, 12 4

- iUz 209e+04 [ 25
=5 po 4293+ 0.0
pl -37.58 + 0.00

50 10'0
TP delay [ns]

TVC(eb,oh)=(6, 12,8

- 1 nuizuZae+U4 | 25
e, pD 4254+ 0.0
p1 -35.05+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 12 12

T 1L yise+Us / 25
= po 4278+ 0.0
-34.58 + 0.00

I C =28.92 [ps/ch]

L n n n n 1
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6,12,1)

AT 1w, roze+u4 [ 25
= po 4246+ 0.0
p1 -33.55+ 0.00

[ C=29.80[ps/ch] ™_ 7]
L L

TP delay [ns]

TVC(c,b Ch) (6, 12 5

-1 nug 148e+04 [ 25
P 4286+ 0.0
-36.8 + 0.0

50 150
TP delay [ns]

TVC(eb.oh)=(6, 12,9

T naiL r9ze+U5 [ 25
==, 4276+ 0.0
-34.86 + 0.00

I C =28.68 [ps/ch] 7

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 12 13

-1 nuiLyyze+u5 / 25
4276+ 0.0
-34.74+ 0.00

[ C =28.78 [ps/ch] 7

PR R SR |
50 100

TP delay [ns]

TVC(CbCh) (6,12,2)

4000

3000

2000

1000

FC=20.78 [psich] ™. 1

1
50 100

TP delay [ns]

TVC(c,b ch) (6, 12 6

4000

3000

2000

1000

X~ 1 i g53e+U4 [ 25
- po 4244% 0.0
[ p1 -33.58+ 0.00

- 1nugzo3e+u4 [ 25
e pO 4280+ 0.0
[ pl -36.78 0.00

TP delay [ns]

TVC(cbch) (6, 12 10

4000

3000

2000

1000

T nuy.z5e+U5 [ 25
po 4286+ 0.0
p1 -34.58  0.00

- C = 28.92 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(c,b Ch) (6, 12 14

4000

3000

2000

1000

T rnuiLzr3e+U5 /25
pD 4285+ 0.0
p1 -34.2+ 0.0

F C = 29.24 [ps/ch]

PR R R S R |
50 100

TP delay [ns]
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1000

4000
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2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,12,3)

A~ 1z usse+ud 25
e po 4273+ 0.0
pL -35.5+ 0.0

TP delay [ns]

TVC(c,b Ch) (6, 12 7

=1 nug 501e+04 / 25
= po 4319+ 0.0
p1 -38.16 + 0.00

50 100
TP delay [ns]

TVC(Cbch) (6, 12 11

T nuiLzo/e+u6 / 25
- po 4308+ 0.0
p1 -35.76 £ 0.00

TP delay [ns]

TVC(cbch) (6, 12 15

T nui yose+u5 / 25
= pO 4261+ 0.0
-34.18 + 0.00

[ C =29.25 [ps/ch]

PR R SRR |
50 100

TP delay [ns]
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1000

4000 [,

3000

2000

1000

TVC(CbCh) (6, 13 0)

T Ly rse+ud [ 25
- pO 4259+ 0.0
pl -36.72+ 0.00

TP delay [ns]

TVC(cbch) (6,134

Tnun 1 r4e+04 /25
e pO 4218+ 0.0
p1 -35.42:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 13 8

I C =28.82 [ps/ch]

rnun zye+u4 /25
- pO 4254+ 0.0
pl -34.7+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (6,13, 12

©rnuiLguse+u4 / 25
pO 4265+ 0.0
pl -35.06 + 0.00

TP delay [ns]
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1000
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3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6, 13 1)

S 5ou0/ 25
o, pO 4269+ 0.0
pl -36.72:+ 0.00

TP delay [ns]

TVC(c, bch) (6,135

-1 nuiL yave+u4 [ 25
e, pO 4222+ 0.0
pL -35.86+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 13

~ 1 nuiL b38e+us / 25
= po 4287+ 0.0
p1 -35.16 £ 0.00

[ C =28.44 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (613,13

T inuz1sze+ud [ 25
- pO 4237+ 0.0
-34.17+ 0.00

[ C =29.26 [ps/ch]

PR BRSNS |
50 100

TP delay [ns]

TVC(c,b,ch)=(6, 13, 2)

4000

2000

1000

T AT 1nw 0339/25
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